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DATA FILE NAME : EX.!
TITLE : FRAHE

NG.
HO.
NG,
KO.
NG.
ND.

POISSON’S RATIG

OF NOGDES =
Of MEMBEKS =
OF LOADED HEHBERS
OF LDADED JDINTS
OF MATERIAL SETS
OF BOUNDARY JOINTS

" i "
[ R RN S Y SR

1"

1"
—
o

X - COOR. Y - COOR.
0.0000 0.0000
8. 0000 9. 0000
6. 0000 0.0000
0. 0000 5. 0000
8.0000 5. 0000

16. 0000 5.0000
00000 8. 000¢
8. 0000 8. 0000
1. 0000 8. 0000
0. 0000 11,0000
8. 0000 11,0000

16. 0000 11,0000
0. 0000 14,0000
8. 0000 14,0000
0.0000 17,0000
8. 0000 17. 06060

__________________________________________________________________________

KA
R

1.
0.
!
2

YOUN6'S  X-SECTIOK
HODULUS AREA INERTIA

2.0000E+09 0.1250 0.0026
2.0000E+09 0. 1500 0.0045

OF HODE 1

0.0000
6. 0000

HOMENT RIBID IONE RIGID 10KHE

0F NODE J

0.0000
0.0000

SHEARING
DEF-TION
NEGLECT
NEBLECT
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FEeeveproovsssestier NODE HO. 4ND PROPERTY OF CLEMENTS értecrevtissstctent

— e
PN I e TR I = TR S S ) R o e

—
[, B 31

e N
0 oo ~ o

[
<

21

R B~ S R L e

(<= A ]

— e R e be e
Cd g > = o O

—
s

15

— e e NI R e e e

P e B R e PI A S e o A

LMD ay O on B Ly N e

NG,

16
14
13
18
21

-1000. 0000
-1000. 9600
-1000. 0000
-10600, 0000
-16100. 0000
-1000. 0000
-1006. 0000
-1000. 0000

NO.

TRANV.
LOAD
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CARD NODE FORCE FORCE HOHENT
NG, NO. IH-X IN-Y AR -1
l 4 4001, 0000 4, 000¢ 0. 0000

2 7 307, 0600 0. 0000 0. 0000

3 10 3000. 0000 6. 00090 ¢. 0000

§ 13 3000. 0600 0.06000 0. 0000

3 5 1500, 0000 0.0000 9. 0000

! t i 1 i
2 2 1 i {
3 3 ! t {
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FILE NARE : EX.!
TITLE : FRANE

HEMBER MNO. NODE AYTAL FORCE SHEAR FORCE NOHENT
i 1 12303.9618 4145.6843 12739.5762
§ -12303.9518 ~4145. 6843 7988.8435

Z Z 34534.0680 5407.5209 14836. 7141
3 -34334. 0680 -5407.35209 12200.8904

3 3 17161.9702 4946.795¢ 14059. 6309
b -17161.9702 -4945.7936 10674.3273

4 ) 333.9266 1097. 4345 -7420.80835
3 -333.9266 6902.5654 -15799.7132

3 ] 828.2285 1484.2368 -4324.3328
b -828,2285 6515.7611 -15804.7363

b § 11206.5273 £79.6103 -548.0370
7 -11204.5273 -679.6103 2606.8682

7 3 26147.2639 5701.8226 7923.1576
8 -26147.2639 -53761.8226 9182.3103

8 b 10646.20%0 4118.5676 5127.4292
9 -10646.2090 -4118.5676 7228.2736

9 7 2346.7746 22184360 -2331.0237
8 -2346.7716 5785.5439  -11933.3276

10 8 -342.5280 2262.7895 -1483.2751
9 362.5280 5737.2108  -12414.4085

11 7 8992.0713 26.3812 -275.8444
10 -8992.0713 -26.3812 334.9682

12 8 18698.3307 2992.5231 4258.2924
11 -18098. 9307 -2992.5234 4723.2170

13 9 §908.9987 44B1.0954 5186.1347
12 -4908. 9987 -4481.90934 82597. 1514

14 10 3810.2670 2505.1917 -1115.5383
11 -3810.2670 5494.8082  -10842,9079

15 i1 4§481.0947 3091.0014 985.1428
2 -4431. 0947 $908. 9986 -8257.1516

16 10 6486.8797 836.6480 750.5699
13 -6486.8797 -834.6480 1749.3741

17 t 9543.1202 3663.3520 5134. 4673
14 -9513. 1202 -3663.3520 5855.5883

18 13 566.7176 2929.029 . bbb, 6615
- 14 -566.7176 - 5070.9703 -9234.4246

19 13 3557.84%98 -1596.6348 -2416. 0360
15 -3557.8498 1596.6348 -2373.8686

20 14 4442, 1494 3094.4350 3378.8360
14 - -4842,1494 -3096. 6330 5911.0692

21 13 3096.6348 3557.8499 2373.8484
16 -3094. 6348 4442, 150t -5911.0492
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§. 1456E-32
3.4073€-32
4.9467E-32
1.4014E-02
1.4000E-02
1.3978E-02
1.9786€£-02
1.9724E-02
1.9734€£-02
2,3629E-02
2.3528E-02
2.3408E-02
2.7122€-02
2,7107€-02
2.9116£-02
2.9033E-02

~1.2303€-31
-3.4534€-31
-1.7161E-31
-2.4607E-04
-5.9068E-04
-3, 4323E-04
-3.8055£-04
-1.0044E-03
-§.7099E-04
-4.8B44E-04
-1.2216E-03
-3.2990E-04
-5.6430E-04
-1.3357€-03
-b.0899€-04
-1.3890E-03

-1.2739€-31
-1.4836E-31
-1.4039€-31
~2.2840E-03
-1.2672€-03
-1.6273£-03
-1.3681E-03
-9.0400E-04
-1.02156-03
-1.1861E-03
-7.6872E-04
-1.3567€-04
-9.0094E-04
-9.6070E-04
-8.8880E-04

1.6974E-04
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DATA
TiTL

NO.
Nd.
ND.
NO.
0.
NG.
PB1S

FILE NAME : EX.2

£ 1 FRAKE - SHEAR HALL

OF NODES

OF MEMBERS

OF LOADED HEMBERS
OF LDADED JOINTS
OF MATERIAL SETS

OF BOUNDARY JOINTS

SON'S RATIO

"
o
—_—

wouoou

11
—
wn

HAT.

NO.
1
2
3
‘

0.0000
6. 0000
14,3000
0. 0000
6.0000
14,5000
0. 0000
6. 0000
14,5000
0. 0000
6.0000
14,5000
0. 0000
6.0000
14.5000
0. 0000
6.0000
14.5000
£.0000
6. 0000
14. 50006

12,0000
12.0000
12,0000
15.0000
15.0000
153.0000
18.0000
18,0000
18.0000

YOUN6'S  X-SECTION

NODULUS

AREAR

2.0000E+09
2.0000£+09
2.0000E+09
2.0000E+09

MOMENT RIGID IONE RIGID ZIONE

INERTIA

OF NODE 1

OF NODE 3
0.0000
0.00600
2.3000
0.0000

SHEARING
DEF-TION
NEGLECT
NEGLECT
NEGLECT
INCLUDE
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............................................................................. 134
rpebsseeetsssrescroce NODE RO, AND PROPERTY OF FLEHENTS scoteotssitaonacess

! i § !
2 N 3 !
3 y ) 4
4 4 3 2
3 5 & 3
b g 7 1
7 3 8 1
8 ] 9 4
9 7 8 ?
10 8 ) 3
i1 7 10 L
12 8 11 1
13 § 12 §
14 10 19 2
15 t1 12 3
16 10 13 i
17 i1 14 1
i8 12 13 §
19 13 14 2
20 14 15 3
21 13 16 i
2 {4 17 !
23 13 18 4
24 1& 17 2
25 17 18 3
26 16 1? {
27 .47 - 20 i
28 18 2 §
29 19 20 2
30 20 21 3

FEESEESECEERRREFLEFE JOINT LDADS IN GLOBAL CCORDINATE EEeEstissRsdfbssies

CARD HODE FORCE FORCE ~ NOMENT
KO. NO. IN-x IN-Y AB.-1
1 § 3000. 0000 0. 0000 0. 0000
2 7 3000. 0000 0.0000 0. 0000
3 10 3000.0000  0.0000 0.0000
4 13 3000.0000 0.0000 0.0000
5 16 3000.0000 0. 0000 0. 0000
b

19 3000, 0000 0.0000 10.0000

{ i 1 1 1
2 2 1 1 1
3 3 1 ! 1



FILE WARE @ EX.2
TITLE : FRAME - SHEAR HALL

HEMBER NO.

wn

10

i1

19

20

NODE

— —
O e VS N 0B @ DD T oo LN B O o R gn e

L S S
S I R e O 2

k4

3

11
14
12
15
13
i4
14

15

AUIAL FORCE
-499.3970
$99.3970
-950.9917
950.9917
1450. 3887
~1450. 3867
2954, 3547
-2954. 3547
3005. 0031
-3005. 0031
-424.8872
424.8872
-891,2175
891.2175
1316.1047
-1316. 1047
3039. 3818
-3039. 3818
3105.5589
~3105.5589
-347.1269
347.1269
-755.2174
755.2176
1102. 3445
-1102.3445
3014, 1574
-3014. 1574
3050. 4907
-3050. 4907
-251.5400
251, 5400
-587.5920
587.5920
839. 1320
-839.1320
3006.7920
-3006. 7920
3020, 0845

©-3020. 0845

SHEAR FORCE

{7731, 4089
~17731.4089
~74.5098
74.5098
~134.2840
134.2840
80.3863
-80.3863
193.2077
-193.2077
14726.4058
~14726.4058
-77.7603
77,7603
~213.7601
213. 7601
119.7680
-119.7680
259.3849
-259.3849
11620.8473
~11620. 8473
-95.5868
95,5848
~263.2125
263.2125
133.9257
-133.9257
295.7179
-295.7179
8570.3562
-8570. 3562
-104,0239
104,0239
~268. 0331
288. 0331

217.95719
160.3226
216.3736
211.3043
173241.3680
-120047. 1410
-283. 6916
-163.3674
-335.3972
-806.0172
123.1690
117.9898
287. 45603
292.1628

120853.1570

~76873.9398
-304.8800
~161.6817
-519.0011
-1297.9403
186.,8902
172.4139
388.5201
389. 6346
77971.9000
~43109. 3580
-376.4046
-197. 1164
-435.7978
-1601. 5084
203.9907
197. 7866
443.279%
443.8742
44710.8672
-18999.7982
-409.5850
-214.5589
-493. 6438
-1754. 6380
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28

29

30

13
1&
14
17

15

18
16
17
17
18
16
19
17
20
i€
21
19
20
20
21

L

NODE

i
2
3
]
5
b
7
8
9

10
1
12
13
14
15
16
17
18
19
20
21

1.2603E-33
1.4235E-33
1.7731E-34
3.0513E-04
2.4604E-04
1.60%0E-04
6. 3790E-04
2.77128-04
4,8912E-04
1.0690E-03
1.0087€-03
9.2236E-04
1.5383E-03
{.4981E-03
1. 4126E-03
2,0716E-03
2.0114E-03
1.9233E-03
2.5671E-03
2.5101E-03
2.4390E-03

-147.515u
147,510
-40%, 5828
§037.5422
551, 0969
-551, 0989
3009. 6855
-3009.0855
3039. 45606
-3039. 44604
-38. 4580
38.4580
~213.85%%
213.8594
252.317¢
-252.3176
2850, 1967
-2850. 1967
2510.8111
~-2510.811!

4,9939E-33
9.5099E-33
-1, 4503€-32
8.3232E-06
1.5849E-05
-1.4503E-06
1,5404€E-03
3.0703E-05
-2.765%E-06
2. 1190805
4.3290E-05
3.866BE-06
2.5382€-03
5.3083E-03
-4.7079E-05
2.7B41E-03
7.9810E-05
~5.2390E-06
2.8482E-05
b.3374E-05
-5.5113E-06

140.7178
-149.7178
309.0103
-309.0103
9950.2727
-5950.2727
-109.0580
109, 0580
-298.7812
298.7812
149,8033
-149.8033
339.38534
-339.3854
2510.8113
-2510.8113
-38.4580
38.4580
-252.3176
252.317&

211.7984
210. 3551

§64.3264
462.7026
20754. 4382
-4103.6201
-424.4758
-229.8722
-721.5352
-1818.0853
214.1204
235.2893
488.7248
529. 4315
5921.7072
1610.7272
~235.2893
£.5410
-533.9726
-1610.7276

RI
-2.1757€-33
-2.1637E-33
-1.7324E-30
-b.3388E-05
-5, 6324E-06
-7.0389€-05
-6, 9142665
-4.0755E-07
-1, 1779€-04
-6.52276-05

8.30856-07
-1, 4485E-04
~9.2120E-05
1.4916E-0b
-1.6214E-04
-9.3774E-05
-3, 14836-07
-1, 6811E-04
-7.0203E-03
§,4914E-05
-1.6914E-04
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DATA FILE HAKE : EX.3

TITLE + SHEAR HALL
NO. OF NODES = |
NO. OF MEMBERS =2
NG. OF LOADED HEMBERS = 8
NG. OF LDADED JOINTS =0
NG. OF MATERIAL SETS =2
RO. OF BOUNDARY JOINTS = 2
POISSON'S RATIG =

8
4

—
LW GOy A e

_b—.h—s-‘l-.—.‘—‘-—
~ O Ln L N e

18

9. 0000
0. 0000
7. 0000
0. 0000
9. 0000
0. 0000
9. 0000
0.0000
9.0000
0.0000
. 0000

2.0000
12,0000
12.0000
5. 0000
15.0000
18. 06000
18,0000
21,0000
21,0600
24,0000
24,0000

MOMENT RIBID I0NE RIGID IONE

HA
N

1.
0.
!
2

YOUNG'S  X-SECTION
 AREA INERTIA

 HODULUS

2.0000£+09
2.0000E+09

3.0000 9.0000

0.3750

0.0176

OF NODE 1

0.0000
3.0000

OF NODE J

0.0000
3.0000

SHEARING
DEF-TION
INCLUDE
NEBLECT
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seetrresirareroesesd NODE MO, AND FROPERTY OF ELERENTS soseapsssosatsstess

ELEN. HO. NODE | NODE J  HAT. SET

i 1 3 !
2 ? 4 {
3 3 4 ?
4 3 5 1
3 4 6 !
& b] b 2
7 B] 7 1
8 6 8 {
) 7 8 2
16 7 9 {
1 8 10 i
12 9 10 2
13 9 11 1
14 10 12 1
13 i1 12 2
16 i1 13 {
17 12 14 i
18 13 4 2
19 13 i3 !
20 14 16 )
21 13 té 2.
22 15 17 t
3 16 18 {
24 17 18 2

" CARD ELEMENT UNIF. NO. TRANV, DIST.
NO. NO. LO&D TRANY. LOAD -LEFT
1 1 -1000.0000
2 4 -1000.0000 0
3 7 -1000.0000 0
4 10 -1000.0000 0
5 13 -1000.0000 0
6 16 -1000.0000 0
7 19 -1000.0000 0
8 22 -1000.0000 0

FELEEERSbeReRREREREEE BOUNDARY CONDITION AT JOINTS &asussssediestifsdisss

CARD NO. B.C.JOINT X-DISPL. Y-DISPL. ROTATION
1 1 o 1 1
2 2 1 { !

<0> = FREE : <1)> = FIXED : <2) = KNOWN



teveerheseraeseee HEHBER FORCES IMN LOUAL COORDINARTL sssvroctoseseesy

FILE HAME : EX.3
TITLE : SHEAR HALL

KERBER NO. NODE AL1AL FORCE SHEAR FORCE HORENT
i i -14219. 6638 14358.5707 £4378.8272
3 14219, 6538 -11358.5767  -47753.1150

z z 14219, 6637 9641, 4290 73694.1975
§ ~14219. 6437 -9641.4290  -44769.9103

3 3 550. 5439 -1250. 3447 -5640.,3554
§ -550. 5439 1250.3447 -5612.7472

4 3 -12969.219¢ 11909, 1148 53393, 4699
5 12969.3190 -8909.1148  -22166.1258

5 4 12969.3189 9090. 8850 50382. 6572
b -12949.3189 -9090.8850  -23110.0021

b 5 1015. 8990 -1913.0848 -8623. 2493
b -1015.8990 1913.0868 -8594.5324

I 5 -11056.2321 9925.0135 30789.3744
7 11056.2321 -6925.0135 -5514.3337

B & 11056.2321 B074.9860 31704.5341
8 -11056.2321 -B074.7860 ~7479.5757

9 7 1320.1018 -2174. 1801 -9793.8858
8 -1320.1018 2174.1808 -9773. 7351

10 7 -8882.0519 8245.1156  15308.2192
] 8882,0519 -5245. 1156 §927.1276

11 B 8882, 0519 £754.8842 17253. 3111
10 -8892. 0519 -6754.8842  L011.3415

12 9 1477.7086 -2170.8806 -9773.7965
10 -1477.7084 2170.9806 -9764.1292

13 9 -6711.1714 67228243 4846, 6683
i1 67111714 ~3722.8243 10821. 80456

14 io 6711.1714 5277.1755 $752.7881
12 -6711.1714 -5277.1755 9078. 7386

15 i1 1520, 2441 ~2008. 3883 -9037.5445
12 -1520. 2441 2008.3883 -9037.9488

16 11 -4702.7828 5243.0681 -1784. 2571
13 4702,7828  ~2243.0481 13013.4817

17 2 4702.7830 3756.9315 -40,7897
14 -4702.7830 -3756.9315 11311.5845

18 13 1462.7060 -1772. 6020 -7971.6727
14 ~14462,.7060 1772.6020 -7981.7459

19 13 . -2939. 1809 3705.7743 -5041.7901
15 2930.1809 -705.7742 11659. 1132

20 14 2930. 1809 2294.2756 -3329.8375
16 -2930. 1809 -2294.2256 10212.5144

21 15 1295.7729 -1540.5339 -4922.8110
16 -1295.7729 1540.5339 -4941.9942

22 15 -1389, 6470 2001.5471 -4736.3015
17 1389. 6470 998, 4528 6240, 9431

23 16 1389. 6469 998.4525 -3270.5207
18 -1399. 6469 -998. 4525 6245.98783

24 17 998, 4524 -1389. 6469 -6240. 9442

18 -998.4524 1389. 6449 -6265.8784



. 2838E-3t
Lb414E-32
. 9924E-05
.9348E-05
9.3993E-05
B.1B02E-03
1. 6268E-04
1. 46B4E-04
2.3430E-04
2.1657E-04
3.0381E-04
2.8557E-04
3.68128-04
3.5057E-04
4,2380E-04
4. 1025E-04
4,7708E-04
4.6310E-04

!
9
3
2

1.4219€-31
-1.4219E-31
7.1098E-06
-7.1098E-046
1.3594€-03
-1.3994E-05
£.91226-03
-1.9122E-05
2.3363E-03
-2.3563E-05
2.6919€-05
-2, 6949E-035
2,9270£-03
~2.9270E-05
3.0735E-05
-3.0735E-05
3. 1430E-05
-3, 1430E-05

~6.5578E-31
-7.3694E-31
-1.1048E-05
-9.8720£-06
-1.7220E~-05
-1.5996E-03
-2.0120€-05
-1.9261E-03
~2.0860E-03
-2.0448E-03
-2.0237€-03
-2.0254E-05
-1.8879€-05

~1.930BE-05

-1.7362E-03
-1.8180E-05
-1.63226-05
-1.7383E-05
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143
DATA FILE NARBE & EX. 4

TITLE : FRANE - SETTLEMEN]
NG. OF NODES = b

NO. OF MEMBERS =3

NO. DF LOADED MEMBERS =0

NO. OF LOADED JOINTS. =0

N0. OF MATERIAL SETS =12

NG, OF BOUNDARY JOINTS = 4
POISSOM'S RATIO = 15

NODE X - COOR Y - COOR
{ 4. 0000 0. 00060
2 9.0000 0.0000
3 0. 0000 4.0000
] 4,0000 4.0000
3 9.0000 4.0000
b 13,0000 §,0000

FEEESERREEES R RRRERRRERELEREY MATERIAL SETS FEFEEFREEERERES R RERERRRTRERE

WAT.  YOUNG'S  X-SECTION KOHENT RIGID IOME RIGID IONE  SHEARING
NO. MODULUS ARER IKERTIA OF NODE I OF NODE J  DEF-TION

f 2.0000E+09 0.9600 0 0004 0.0000 .  0.0000  KEGLECT
2 2.0000E+09 0.1000 0.0016 0.0000 $.0000  NEBLECT

ELEM. NO. NODE I NODE J  MAT. SEI

1 1 4 {
2 2 3 1
3 3 4 2
4 4 3 2
5 h] b 2

SECECERRREREREREEREEEE BOUNDARY CONDITION AT JOINTS FEEEEERER LR R EREREEE

1 ! 1 2 0
-0.0500

2 2 1 1 0

3 3 1 1 1

4 b 1 1 i

0) = FREE : 1> = FIXED : <2 = KNOWK



FILE NAME : EX. 4

TITLE : FRAME - SETTLEMENT

HEHBER NO. NODE

n

i i

’ 4
2 2
5

3 3
4

' 4
5

5

b

AXIAL FORCE
~34667.9460
36667, 9460
21006.8948
~21006.8948
-178,5889
178.5889
539.2954
-539.2954
-495., 5304
495.5304

-717.8844
717.8844
1034.8259
-1034.8259
23522.4940
-23522.4940
-13145.4522
13143.4522
7861.4426
-7861. 4426

NODE DX
i ~7.1788E-33
2 1.0348€-32
3 1.7858E-33

4 3.OTTE-06
3 -9.9106€E-06
b -4.9553E-33

~3.0000£~02
-2. 1006E-31
-2.3522€-31
-4.8777E-02
~7.0022E-04
7.8614E-32

2.3920£-03
-3.4469E-03
~3.0874€E-31
-4,7867E-03
6.9013E-03
-1, 0201E-31

0. 0000
-2871.5378
0. 0000
4139.3036
J0874, 4194
43215. 5565
-40344.0188
-23383.2426

T 21243.9389

10201.8316
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1000 REN wes HEADING w4+
1010 TEXT : HOME : VTAB 1

1020 GOTO 1040 :

1030 PRINT "Srsesisssssrnaset s RF HRERRERRERRRER41": RETURN

1040 6OSUB 1030 '

1050 VTAB 4: PRINT * ANALYSIS PROGRAM OF .

1060 YTAB b: PRINT 1. 2-D FRANE®

1070 VTAB B: PRINT *2. 2-D FRAME-SHEAR WALLS INTERACTION'

1080 VTAB 10: PRINT *3. 2-D SHEAR WALLS WITH OPENING®

1090 VTAB 13: GOSUB 1030 .

1100 VTAB 22: PRINT *PRESS 'RETURN KEY' TO CONTINUE®: YTAB 22: HTAB 32: BET BS$

1110 TEXT : HOME : YTAB 2: PRINT "PROGRAM SLOT : 67: VTAB 3: HTAB 9: PRINT "DRIVE : "3 YTAB 3: HTAB |

7: INPUT **;AA$: IF AA$ = ** THEN PRINT CHRS (7): GOTO 1110

1120 IF AAS ¢ > 1" AND AAS < ) "2° THEN PRINT CHRS (7): 60TO 1119

1130 AA = VAL (BA$): POKE 34,3

1140 VTAB 5: PRINT "DATA ~ SLOT : 6": VTAB 6: HTAB 9: PRINT "DRIVE : *: VTAB b: HTAB 17: INPUT **;BB

$: IF BBS = *° THEN PRINT CHRS (7): 6070 1140

1150 1F BBS < > "1® AND BBS ¢ ) "2 THEN PRINT CHRS (7): 60TD 1140

1160 B8 = VAL {EB$): TEXT
1170 VTAB 22: PRINT CONFIRM BY TYPE : 'Y

1180 YTAB 22: HTAB 20: BET Ns: IF N$ = ** THEN PRINT CHR$ (7): GOTO 1180

1190 IF 8§ < O *Y® THEN 1110

1200 HOME : POKE 779,Ah: POKE 780,EB: FLASH : VIAB 2: PRINT *.NAITING.*: NORMAL -

1210 D$ = CHRS (13) + CHRS (4)s PRINT D$;°RUN GPTIONS,D";RA



1000

1010 TYEXT : HOME :AA = PEEK {779):8B = PEEK (780)

REM  #¢ QPTIONS ¥4+

1020 08 = CHR$ {13) + CHR$ (4)

1030
1040
1050
1060
1070
1080

1030

1100
110
1120

---~*1 PRINT

PRINT TAB( 1)*
FRINT * COMBARD
PRINT * —-eeeee
FRINT ® - INPUT DATA
PRIAT * - EXECUTE DATA
PRINT *- - DISPLAY DATA
PRINT * - CHANGE DATA
PRINT * - PLOT DATA
PRINT * - EXIT

VIAB 22: PRINT * CHOOSE NUNBER (1 - b )*: VTAB 22: HTAB 27: 6£T fES

1130 €C = VAL (CC$)

(140
1150
1160
1170
1180
130
1200
1210

IFCC < 1 DR CC >'6 THEN PRINT CHRS$ (7): 60TD 1120

NUMBER® _
------ *: PRINT
(1>*: PRINT

(2>°: PRINT
(3>*: PRINT
(" PRINT
(3>": PRINT
(8>": PRINT

ON CC BOTO 1160,1170,1180,1130,1200,1210

PRINT D$;"RUN INPUT DATA,D1"

PRIKT D$;°BLOAD RUNTIME® + CHR$ (13) + CHR$ (4) + *BRUN EXECUTE DATA.0BJ,D1*

PRINT D$;"RUN DISPLAY DATA,D1"
PRINT D$;*RUN CHANGE DATA,D1®
PRINT D$;°RUN PLOT DATA,DI®
END
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1000

REM es# [HPUT DATA ###

1010 AR = PEEK {779):BB = PEEK {780)

1020
1030
1040
1050
1060
1070
1980
1090
1100
110
129
(130
1140
150
1169
1170
1180
119
1200
1210
1215
1220
1230
1240
1250
1260
1270
1280
1290
1295
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1430
1500
1510

[ 5}
JL

TEXT : HOME :AS$ = °*

INVERSE : VTAB 1t PRINT AS$: RETURN

605UB 1030
VTAB 2: PRINT *
6010 1080

INPUT DATA

VTAB 3: PRINT AS$: NORMAL : RETURN
60SUB 1070: POKE 34,4: 6070 1150

POKE 34,22: VTAB 23: PRINT 'ACCEPT’DAT“»: 'Y'ES OR 'W°O"

YTAB 23: HTAB 29: GET 6%
IF 6% = " THEN 1140

IF 68 C > "Y" AND 6% ¢ > *N" THEN 1140

HOME : RETURN

PRINT CHR$ (7): 6OTO 1100
VIAB 5: PRINT °TITLE 1 *;1 INPUT "°;F$
VTAB 7: INPUT "NO. OF NODES

INPUT "HO. OF MEMBERS

INPUT "N0O. OF LOADED MEMBERS
INPUT “ND. OF LDADED JOINTS
IHPUT "ND. OF MATERIAL SETS
INPUT *ND. OF BOUNDARY JOINTS

INPUT *POISSON'S RATIO
HOME '

u

[ R T T I T}

VTAB 3: PRINT °TITLE : *;F$
VIAB 7: PRINT "NO. Gf NODES

PRINT *NO, OF MEMBERS

PRINT "NO. OF LOADED MENBERS
PRINT °NO. OF LOADED JOINTS
PRINT "NO. OF MATERIAL SETS
PRINT "KD. OF BOUNDARY JOINTS

PRINT "POISSON'S RATIO
505UB 1090
IF 6% = "Y" THEM 1330

T ]

POXE 34,4: HOME : 6070 1130 -

TEXT & HOME

* s NUEL
Ln
Ly
"INs
*:Bl
*:PT

*3Ld

*:8d
i

;NP

*: 60TD 1040

DIN X(MP),Y(NP}, 3 (NUEL) ,K (NUEL), NS (NUEL) ,AREA(HS) , 17 (HS) ,E (NS)
DIN K1 (LM} ,K2(LM) K3 (L) KA (BI) ,KS (NS}

DIM MLILK), T1¢5,LM),T215,
DIN JRINS) KR(NS) ,SHEARS (NS} ,P(3,LJ),813,8J) ,GN(3,BJ)

605UB 1030

VIAB 2: PRINT *
60SUB 1070: POKE 34,4
FOR J = 1 TD NP

L

HOME : VTAB 5: PRINT "NODE NO. °;J
VIAB 7: INPUT "X - COORDINATE

INPUT *Y - COORDINATE

= YD)

= X))

HOME : VIAB 5: PRINT °KODE NO. °;J
VTAB 7: PRINT "X - COORDINATE

PRINT °Y - COORDINATE
60SUB 1090: POKE 34,4

IF 6% = "N° THEN 1420
NEXT J
TEXT & HOME

§05UB 1030

= Y ()

= X

INFUT NODAL POINT COORDINATE
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§530 VTAB 2: PRINT * INPUT MATERIAL SETS: -t

1340 6OSUB 10703 POKE 34,4

1350 FORJ =1 TO M5

1360 HOME : VTAB 3: PRINT *MATERIAL SET NO. "3J
1570 VTAB 7: INPUT °*YOUNG's MODULUS = "3E()

1580 INPUT "AREA = *;AREA(J)
1590 INPUT °*MOMENT INERTIA = 3114)
1600 INPUT “RIGID IOME OF NODE I = *;JRWJ)
1610 INPUT "RIGID IONE OF NODE § = ";KR(J)

1620 POKE 34,5: HOME : VIAB 7: PRINT *SHEARING DEFORMATION : "N'EGLECT®

1630 VIAB B: PRINT ® 't 'I'NCLUDE" ,
1630 VIAB 9: PRINT ° ANSWER : ": VTAB 9: HTAB 253 6ET SHEARS(J): IF SHEAR$(J) = ** THEN |
. b4 S

1650 IF SHEAR$(J) = °I* OR SHEARS (J) = *N* THEN 1670
1660 PRINT CHR$ (7): 6OTD 1620 '
1670 HOME : VTAB 7: PRINT "YOUNG's MODULUS = "jEdd)

1680 PRINT “AREA = ";AREA(J)
1690 - PRINT "NOMENT IMERTIA = %I
1700 PRINT “RIGID I0ME OF NODE 1 = "j;JR{J)

1710 PRINT "RISID IONE OF NODE J = *;KR{J) .
1720 IF SHEARS{J) = °N° THEN PRINT "SHEARING DEFORMATION : NEGLECT®) GOTO (740
1730 PRINT "SHEARING DEFORMATION : INCLUDE®
1740 GOSUB 1090: POKE 34,4
1750 IF 6% = *N° THEN 1560
1760 NEXT J
1770 TEXT : HOME
1780 6OSUB 1030 .
1790 VTAB 2: PRINT * INPUT NODE ND. AND PROPERTY OF ELEMENT °
1800 6OSUB 1070: POXE 34,4
1810 FOR J = 1 TO NUEL

1820 HOME : YTAB 5: PRINT "ELEMENT NO.";J: PRINT
1830 INPUT °NODE 1 = %3
1840 INPUT "NODE J = "5Kid)
1850 INPUT *MATERIAL SET = ";N5(J)
1350 HOME : VTAB S: PRINT "ELENENT HO.";J: PRINT

-

" 1870 PRINT "NODE 1 = %I
1880 PRINT *NODE J = ki)
1890 PRINT "MATERIAL SET = *;AS(J)

1300 6OSUB 1090: POKE 34,4

1910 IF 6% = "N* THEM 1820

1920 HEXT J

1930 IF LM < = 0 THEN 2240

1940 TEXT 3 HOME

1930 6OSUB 1030

£960 VTAB 2: PRINT ° INPUT MEMBER LOADS IN LOCAL COGRDIMATE *

1970 VTAB 3: PRINT * emmmmmooememeeee *: NORMAL



1980
1990
2000
2010
2020
2030
2040
2050
2060
2070,
2080
2090
2100
241
2120
2130
2140
2150

2160
2170
7180
2190
2200

. 2210

B
2220
2230
2240
2250
226
2270
2280
2290
2300
2310
2320
2530
2340
2350
2360
2370
2380
2390
2400
2410

VIAB 4: PRINT * PREVIOUS MEMBERS : ":HH = 21:VV = 4: POKE 34,8
FOR J =170 LN

HOME : VIAB 9: INPUT "LOADED MEMBER NO. = *iKtid)

INPUT "UNIF. LOAD = "iHLEd)

INPUT *NO. OF TRANSVERSE LOAD = *;K2(J)

IF K2¢J) ¢ = 3 THEN 2040

PRINT CHR$ (7): PRINT "NO. OF TRANSVERSE LOAD = 5 (MAXIMUM>®
60T0 2020

IF K2(1) ¢ = 0 THEN 2180

POKE 34,8
FOR K = 1 T0 K2(J)

HOME : YTAD 9: PRINT *TRANSVERSE LODAD NO. *;K;* = *;: INPUT *;T1(K,J)

PRINT "DISTANCE FROM LEFT END = *;: INPUT **;T2(K,J)
NEXT K

HOME : VTAB 9: PRINT "LOADED MEMBER NO. = "K14d)
PRINT “UNIF. LOAD ] R0)

PRINT -"NO. OF TRANSVERSE LDAD = *;K2(])

FOR K = 1 TD XK2¢d)

FRINT K;* TRANS. LDAD/DIST. ~ = *;TH(K,J};"/*;T2(K,d)

NEXT X

605UB 1090: POKE 34,8

IF 6% = "N* THEN 2000

IF HH ¢ LEN ( STR$ {KI(J1)) D 40 THEN W = WV + {:HH = |

IF W > 7 THEN TEXT : POKE 34,3: POKE 33,8: HOME : TEXT & YTAB 4: PRINT * PREVIOUS MEMBERS : *:H

= 21:W = & POKE 34,8

VTAB VV: HTAB HH: PRINT KI{J):HH = HH + LEN ( STR$ (K1{J))) ¢ {

NEXTJ

TEXT : HOME @ IF L3 ¢ = 0 THEN 2440

605UB 1030

VTAB 2: PRINT "INPUT JDINTS LOADS IR SLOBAL COORDINATE *

VIAB 3: PRINT *  seememeemeeeeeee- *: NORMAL

VIAB 4: PRINT "PREVIOUS JOINTS : “:HH = 20:WV = 4: POKE 34,8

FRRI=L1TOL
HOME : VTAB 9: INPUT *LOADED JOINT MO, = *;K3{J)

INPUT *FORCE IN X = MPLLIY
INPUT "FORCE IN Y = "P(2,d)
INPUT *MOMENY ABOUT 1 = *;P(3,])

HONE : VTAB 9: PRINT *LOADED JOINT NO.
PRINT *FORCE IN X = %P1, D)
PRINT "FORCE IN Y- ":P(2,0)
PRINT "NOMENT ABOUT I *P(3,d)
BOSUB 1090: POKE 34,8

IF 6% = *N* THEN 2300

IF HH + LEN ( STR$ (K3(3))) > 40 THEN WV = W + 13HH =

K3

[UIE | B

IF YV > 7 THEN TEXT : POKE 34,3: POKE 35,8: HOME 3 TEXT : VTAB 4: PRINT °PREVIOUS JOINTS : *:84

20:VV = 4: POKE 34,8

242
2430
2430
2430
2460
2470
2480
2490
2500
2510

VIAB YV: HTAB HH: PRINT K3(J):HH = HH + LEN ( STR$ (K3(JN)) + 1

NEXT J

TEXT = HOME

605UB 1030

VTAR 2: PRINT " INPUT BOUNDARY COMDITION AT JOINTS  °

YTAB J: PRINT ® FREE = 0 : FIXED = 1 : KNOWN = 2 ": NORHAL

VTAB 5: PRINT ° PREVIOUS JOINTS : *:HH = 21:VV = 5: POKE 34,8
FOR J =1 TO BJ

HOME : VTAB 9: INPUT "B.C. JOINT D = *;K4(J)

INFUT °X - DISPL. = 58,0
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2 THEN 6070 2540

"

2520 IF 041,J) = 0 OR QiL,J) = 1 OR 8(1,D)
2330 PRINT CHR$ (7): 60TD 2510
2540 INPUT Y - DISPL. = %842,0)

2550 IF Q(2,J) = 0 OR 842,J) = 1 OR @(2,d) = 2 THEN 2570
2560 PRINT CHR$ (7): GOTO 2540

2570 INPUT *ROTATION = %003, .

2580 IF Q(3,3) = 0 OR 043,J) = 1 OR 943,)) = 2 THEN 2600

2599 PRINT CHR$ {7): 6OTO 2570 _

2600 HOME : VTAB 9: IF Q(1,d) ¢ =1 THEN 2620

2610 INPUT "KNOWN X - DISPL. = *;ON{l,])

2620 1F @(2,0) ¢ =1 THEN 2640 -

2630 INPUT "KNOWN Y - DISPL. = *;ON(2,)

2640 IF @43,3) < = | THEN 2660 -

2650 INPUT *KNOWN ROTATION = *;OM(3,))

2660 FOR 1 =1 T0-3: IF G(1,J) = 0 THEN A$(1)-= *FREE®

2670 IF @1,3) =1 THEN AS(1) = "FIXED®

2680 IF @41,3) = 2 THEN AS(I) = “KNOWN*

2690 NEXT I

2700 HOME : VTAB 9: PRINT "B.C. JOINT NO. = *;K4(J)

2710 VTAB 10: PRINT *X - DISPL. = *3A8(1)

2720 IF AS(1) = "KNOWH" THEN VTAB 10z HTAB 26t PRINT °: *;ON{1,J)

2730 VTAB 11: PRINT *Y - DISPL. = "3A$(2)

2740 IF A$(2) = °KNONN® THEN VTAB il: HTAB 261 PRINT °: °}@N{2,J)

2750 VTAB 12: PRINT "ROTATION = "A$(3)

2760 IF AS(3) = "KNOHN® THEN VTAB 12: HTAB 26: PRINT ®: *jON{3,J)

2770 605UB 1090: POKE 34,8 '

2780 IF 6% = “N* THEN 2500

2190 IF HH + LEN ( STRS (K4QID) > 40 THEN W =W + LiHH =1

2800 IF WV > 7 THEN TEXT : POKE 34,3: POKE 35,8: HOME : TEXT : VTAB 5S¢ PRINT * PREVIOUS JOINIS : *:H
H = 21:W = 5: POKE 34,8

2810 VTAB VWV: HTAB HH: PRINT K4{J):HH = HH ¢ LEN ( STR$ (K&(J))) + |

2820 NEXT 3

2850 TEXT : HOME : BOSUB 1030

2840 VTAB 2: PRINT * INPUT DATA ’

2850 B0SUB 1070: POKE 34,3

2850 IF BB = 2 THEN 288)

2870 VIAB 11: PRINT “INSERT DATA  DISK INTO DRIVE®: EOSUB 2900: 50TD 2930

2880 VIAB 11: PRINT "INSERT PROGRAN DISK INTO DRIVE # {°

2890 VTAB [2: PRINT "INSERT DATA™  DISK INTO DRIVE # 2": GOSUB 2900: 6OTD 2930

2900 VTAB 14: PRINT °PRESS 'RETURN KEY' TO CONTINUE®: VTAB 14: HTAB 32: 6ET 64

2910 IF ASC (6$) < > 13 THEN PRINT CHR$ (7): GOTO 2900

2920 RETURN

2930 HOME : VTAB 5: PRINT “INPUT HAME OF DATA FILE TO BE SAVE®

2950 VTAB 7: PRINT "HOT MORE THAN & CHARACTERS®

2950 VTAB 9: PRINT "FILE NAME : *j: INPUT *°;Al$

2960 IF LEN (A13) ) & THEN 2930

2976 D$ = CHRS (13) + CHR$ (4)

2980 PRINT D$;°MONC,1,0%: VTAB 11: FLASH : PRINT *.WAITING.*: NORMAL 1 POKE 34,11 HOME

2990 PRINT D$;°CPEN";A1$;°,D";B8

3000 PRINT D§;°DELETE*;At$: PRINT D$;"OPEN";Al$

3010 PRINT D$;"WRITE*;AL$

3020 PRINT F§: PRINT NP: PRINT MUEL: PRINT LN: PRINT LJ: PRINT HS: PRINT BJ: PRINT PT: FOR J = 1 TO MY
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EL: PRINT J{J)s PRINT K{J): NEXT J

3630 FOR J =1 TD NP: PRINT X{J): PRINT Y{J): NEXT J

3040 FOR J =1 TO MS: PRINT E¢J): PRINT AREA(J): PRINT 12(J): PRINT JRUJ): PRINT KR{I): PRINT SHEARS$(J
bo NEXT J. :

3050 FOR J = § TO NUEL: PRINT M5(J): NEXT J

3060 IF LM ¢ = 0 THEN 3110

3070 FOR J =1 TD LM: PRINT K1{J)}: PRINT ML{J): PRINT K2(J}

3080 IF K243) < = 0 THEN 3100

3090 FOR K =1 TO K2(J}: PRINT TH(K,J): PRINT T2(K,d}: NEXT K

3100 REXT 4§

3110 IF L3 < = O THEN 3130 :

3120 FOR J =1 TO LJ: PRINT K3(J}: PRINT P{1,J}: PRINT P(2,J): PRINT P{3,J): NEXT J
3130 FOR J = 1 TO BJ: PRINT KA(J): PRINT @(1,J): PRINT @{2,J): PRINT Q{(3,J)
3140 FOR 1 =170 3: IF QUI,3) ¢ =1 THEN 3140

3150 PRINT @N¢I,0)

3160 KEXT I

3170 NEXTJ

3180 PRINT D$;"CLOSE®;A1$

3190 PRINT D$;"NOMON C,1,0%: VTAB PEEX (37): CALL - 868: POKE 34,3

3200 HOME : IF BB = 2 THEN 3230

3210 VIAB 11: PRINT "INSERT PROGRAM DISK INTO DRIVE®

3220 60SUB 2900: HOME

3230 PRINT D$;°RUN OPTIONS,D";AA

3240 END
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1000 REM  s&# EXECUTE DATR ##¢ THIS SUBPROGRAM MUST BE CREATED BY TASC

1010 KEM ! DEFCOMNON AlS,MF MMAX,MAXB,10,FT,F$ NP NUEL,LM,LJ,NS,BJ,PT,AA,BB

1020 REM ! DEFCOHMON X(BO),Y(BO),J(135),K(135),H5(135),AREA(]S),11(15),E(IS),JR(!S),KR(IS),SHEARS(IS)
,Kl(?S),K?(?S),K3(25),K4(15),KS(IS),HL(75[,TI(5,75),T2(5,75),P(3,25),0(3,!5),9"(3,15)

1030 TEXT : HOME :AA = PEEK {779):B8 = PEEK (780)

1040 IF BB = 2 THEN 1060 ) o :

1050 VTAB 11: PRINT ®INSERT DATA DISK INTO DRIVE®: 6OSUB 1080: 60T0 1120

1060 YTAB 11: PRINT "INSERT PROGRAM DISK INTO DRIVE # t*

1070 VIAB 12: PRINT "INSERT DATA DISK INTD DRIVE % 2°: 60SUB 1080: 6OTD 1120

1080 VTAB 14: PRINT ®PRESS ‘RETURN XEY' TO CONTINUE®

1090 VTAB 14: HTAB 32: INPUT "*;G$

1100 IF 6% ¢ ) ** THEN PRINT CHR$ (7): POKE 34,13: HOME : TEXT : POKE 34,6: 60TD 1080

1110 HOME : RETURN ’

1120 D$ = CHR$ (4)

1130 VIAB 2: PRINT "NAME OF DATA FILE TO BE EXECUTED"

1140 VIAB 4: PRINT "FILE NAME : *;: INPUT **;Al8

1150 VTAB &: FLASH : PRINT *....... .. EXECUTE DATA : PREFRONT........"r NORMAL : POKE 34,5

1160 FOR 1 =1 TO 5: PRINT CHR$ (7): MEXT I

1170 PRINT D$;"OPEN";Al$;°,D";BB: PRINT D$;"READ®;A1$

1180 INPUT F$ NP, NUEL,LM,LJ M5,BJ,PT

‘1190 DIM J{133),K(135) ' ‘

1200 FOR J =} TO HUEL: INPUT Jid),K{J}: NEXT J

1210 PRINTD#;'CLDSE';M:

1220 NDDE = 2:HD = 3

1230 M1 = NODE:MD = NODE # NDINW = (MD # (XD + 1)) / 2 + MD

1240 REM %% PREFRONT 244

1230 NC = O:MF = O:MN = O:I¥ = 0:J8 = 0:HB = 25

1260 NE = (MD # (MD + 1)) 7 2 + WD

1270 DIR 18{2),1B{80),IC(80),LAt14) HOC{14)

1280 FOR I = | TO NP:IBII) = O: MEXT 1

1290 PRINT D$;"OPEN FRONT®: PRINT D#; "DELETE FRONT®: PRHHT D¥;"OPEN FRONT*'

1300 FOR LI = § TO NUEL:10¢(1) = JILI):10(2) = KiLD)

1310 FOR I =1 TO NODE:K = I8{1)1IBIK) = IB¢X) + 1: NEXT I: MEXF LI

1320 FOR 1 = 1 7O MP:IC(I) = IB(I): NEXT I

1330 FOR LI = | TO MUEL:ID(1) = JELI):101(2) = KILD)

1340 FOR I = 1 70 NOBE:K = IQ{I):ICIK} = ICIK) - 1: NEXT I

1350 60SUB 1400

1360 NEXT LI

£370 EOSUB 1400: PRINT D#;°CLOSE FRONT®

1380 6070 1710

1390 REN +##& FRONT #ss

1400 M = 0:N = 0: FOR I =1 T0 NP

1410 IF 1B(1) = IC(I) THEN 1440

1420 IF IC(I) = O THEN IB(I) = ¢

1430 N = N + 1:LO(N) = |

1480 NEXT |

1450 IF N = 0 THEN 1530

1460 FOR I =t YO WM:MOC(I} = 0:0 = LO{I)

1470 IF ICG3) < > O THEN 1490

1480 LO(I) = O:M = W ¢ L:HOC(M) =

1490 NEXT |

1500 J = N « 1: FOR T = 1 TD M: IF LRCI) = O THEN 1320



1510
1520

1530 nd

1540
1330
1560
1570
1580
1590
1609
1619
1620
14630
1640
1630
1660
1670
1680

1690

1700
1710
1720
1730
1740
1730
1760
1770
1789
1790

- 1800

1810
1820
1830
1840
1850
1860
1370
1880
1890
1900
1910
1920
1930
1940
1950
1360
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070

HOC(J) = LAIIN:LG(D) = 0:0 = ) + 1

NEXT I
= 0: IF § = 0 THEN 1550

FOR 1 = | TO M:M@ = M@ # ND: NEXT I
NQ = 0: IF N = 0 THEN 1570

FOR 1 =1 70 N:N@ = N@ + ND: NEXT I
NF =40 ¢ (1 +3) +MD+ME + (NQ# (NQ+ 1)) /2
JH =N E KR - (iNE - 1) P HD) /2 4 NO - MO
JB=NI-NDH L+ d

IF NF > NC THEN NC = NF

IF NQ ) HF THEN MF = NO

IF N > MN THEN N = N

IF J% > IW THEN IN = ¥

IF JB > HB THEN MB = JB

IF %0 ) J@ THEN J0 = M0

PRINT D$;"WRITE FRONT®

PRINT M0: PRINT NQ@: PRINT M: PRINT N: PRINT M
FOR 1 = 1 7O N: PRINT MOC(1}: NEXT Iz PRINT D$
RETURN

REN  ## FRONTIQ #+3
K5 = b
MAXB = (KS + ¥F + 5) ¥ 5

PRINT D$;°OPEN FRONTIQ®: PRINT D$;"DELETE FRONTIO®
PRINT D$;°OPEN FRONTIO,L;HAXB:1Q = 0

"DIN AMOC(14) ,BNOC(14) LE(5) ,LF(42)

PRINT D$;"DPEN FRONT™: PRINT D$;*READ FRONT®
INPUT MQ,HB,M1,N1,NA: FOR 1 = § TO NA: INPUT AMOC(1): NEXT I
PRINT D$: FOR LI = 1 TD NUEL

PRINT D$;"READ FRONT®: IHPUT MR,NR,N2,H2,NB

FOR 1 = 170 NB: INPUT BMOC(I): NEXT I: PRINT DS

181 = JILD:IR) = KiLD)
IF L1 ¢ (NUEL - 1) THEH GOSUB 1870
§OSUB 2050
" ONEXT LI
€070 2320

REN #3% GAPS 3#
Ki =B ¢« 1:K2=N2+1

IF K1 -> K2 THER 1X = K}

IF K2 > = X1 THEN IX = K2

IF Bi ( N2 THEN IY-= NI~

IF N2 ¢ = Ni THER 1Y = N2

IF 10> 1Y THEN 2040

FOR 1 = 1 70 N2:10¢1) = BMOC(I):BMOCID) = O MEXT I .
FOR 1= IX 1D IY:K = AMOC{T)

FOR J = K2 70 N2: IF L@{J) = K THEN 1970
NEXT J: 6070 1980
BHOC(T) = Xeb@HJ) = ¢

NEXT 1

FOR I =1 TD N2: 'IF LO{I)} = 0 THEN 2630
FOR J = 1 TO N2: IF BNOC(J) = O THEN 2020
NEXT J

BMOC(IY = LBt = 0

KEXT 1

RETURM

REN t4s EXPAND #&3

KG = M3 ¢+ |

FOR 1 =1 TO NODE: FOR ) = 1 1D NA
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2080 IF 1Q(1) = AMOC(J) THEN L@{D) =
2090 NEXT J: NEXT I
2100 L = 0s FOR 1 = | TO NODE:LP = 1G(I)
2010 J2 = 0: IF LB{I) = 0 THEN 2130
2120 FOR J = 1 TO L@(1):J2 = J2 ¢ ND: NEXT J
2130 31 =32 - WD + 1
2140 FOR J = 31 TO 32:L = L # 1:LEQL) = Ju NEXT J: NEXT |
2150 L = MQ: IF M@ < | THEN 2170 '
2160 FOR 1 =1 TO MQ:LF(I) = 0: NEXT |
2170 K1 = M1 +-13 IF K1 ) NA GOTO 2260: REN CAN'T USE THEN
2180 FOR 1 =K1 TO No: FOR J = 1 TO MB
2190 IF AMOC(I) = BMOC(J) THEN LOMD) =
2200 - NEXT J: NEXT [ :
2210 FOR-1 = K1 TO NA:LP = ANOC{D)
2220 32 = 03 IF LB{I) = O THEN 2240
2230 FOR J = 1 70 L@{1)2J2 = 42 + ND: NEXT J
2240 31 = 32 - WD + 1 - -
2250 FOR J = 31 10 32:L = L + L:LF{L) = J3 NEXT J: NEXT I
2260 PRINT D$;°WRITE FRONTIO,R®; 10
2270 PRINT MD: PRINT KQ: PRINT NO: PRINT MR: PRINT KS
2280 FOR 1 = 1 T0 KS: PRINT LE(I): MEXT I
2290 FOR 1 = 1 70 NO: PRINT LF(1}: NEXT I: PRINT D4
2300 FOR 1 = 1 TO NB:AMOC{I) = BNOC{D): NEXT I '

2310 M1 = M2:N} = N2:NA = NB:MQ = MR:N@ = NR:1@ = 18 + I: RETURN

2320 PRINT.D$;"CLOSE FRONT*
2330 PRINT D$;°CLOSE FRONTIO® -

2340 PRINT D3; "DELETE FRONT®

235041 = J0.% #F - (30 ¥ (3@ - 1) /2
2360 MMAX = (X1 + JQ + 1) # 20 '
2370 IF BB = 2 THEN 2420

2380 TEXT : POKE 34,4: HOME 1 VTAB &: INVERSE-: PRINI % eeeerss-EXECUTE DATA : PREFRONT........": HORHAL

s POKE 34,6
2390. . VIAB 11: PRINT *INSERT PROSRAM DISK INTO DRIVE®
2400 GOSUB 1080

2410 TEXT : POKE 34,4: HOME : VTAB 6: FLASH : PRINT ® .eeees..EXECUTE DATA : FRONTST.....

s POKE 34,6
2420 PRINT CHRS (4);°BRUN FRONTST.0BJ,D";RA
21430 END
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1000 REM  s3¢ FRONTST v4¢ THIS SUBPKOGRAM MUST BE CREATED BY TASC

1010 REW ! USECONMON ALS,NF NMAX,NAXB,1Q,FT,F$ NP, NUEL,LN,LJ,NS,BJ,PT AR, BB

1620 REM ! USECOMMON X(B0),Y(80),J(133),K(135),M5(133) AREA(15),12(15) \E(15) ,JR{15) KR(13) ,SHEARS {15
),KL(75),K2(75),K3(25) K4(15) KS{15) ,HL(75),TL(5,75),T2(5,75) ,P{3,25),0(3,15) ,ON(3,15)

1030 D$ = CHRS (4)

1040 IF BB = 2 THEN 1100 4

1050 TEXT : POKE 34,4: HOME : VTAB b: INVERSE 1 PRINT °.........EXECUTE DATA : FRONTST.........": NORMAL

ot POKE G , -

1060 VIAB 11: PRINT "INSERT DATA  DISK INTO DRIVE®: GOSUB-1070: GOTO 1100

1070 YTAB 4: PRINT "PRESS 'RETURN KEY' TO CONTINUE®: VTAB 14: HTAB 32: INPUT **;6$

1080 IF 65 ¢ ) ** THEN PRINT CHR$ (7): POKE 34,13: HOME 3 TEXT : POKE 34,6: 6070 1070

1090 HOME : RETURN

1100 TEXT @ POKE 34,4: HOME : VTAB 6: FLASH : PRINT °.........EXECUTE DATA 1 FRONTST......... *: NORMAL
: POKE 34,6

1110 NDDE = 2:ND = 3:MI = NODE:ND = HODE & ND:NW = (AD ¢ (MD + 1)) / 2 + MD:ME = W

1120 MAXB = {6 + MF +5) ¥ 5

1130 PRINT D$;"OPEN*;A1$;* ,D°;BB: PRINT D$;"READ";A1S

1140 INPUT F$,NP NUEL,LN,LJ NS, BJ,PT: PRINT D$

1150 DIN X(B0),Y(80),J(135) K {135) K5 1135) ,AREAL1S},12(15) ,E(15) ,JRUI5) KR(13) ,SHEARS (15)

{160 DIN KL(75),K2(75),K5(25) K4 (15) ,KS{15) MLTS) ,TL5,75),72(5,75)

1170 DI P(3,25),0(3,15) ,GN{3,15)

1180 DIN LE{&),LF{42),K0(42),5¢27),B142) ,A(903) ,5T(6,6) ,FIXED(S)

1190 PRINT D$;*READ*;A1$: FOR J = 1 TO NUEL: INPUT J(J),KiJ}: BEXT )

1200 FOR J = 1 TO NP: INPUT X{J),Y(J): NEXT )

1210 FOR J = 1 T MS: INPUT E(J),AREALJ),IT13),JR(3) KR1J) ,SHEARS 43} s HEXT J

220 FOR J = 1 TO WUEL: INPUT NS(.-: HEXT J

1230 IF LM< = 0 THEN 1280

1240 FOR J = 1 T0 LM: INPUT K1(J) HLUJ) K200)

1250 IF K20J) < = 0 THEN 1270

1250 FOR K = 1 T0 X2(D)s INPUT THIK,J),T2(K, ) KEXT K

1270 MEXTJ

1280 IF LI ¢ = O THEN 1300

1290 FOR J = 1 T0 LJ: TWPUT K3(J),P(1,0),P12,0),P{3,d): WEXT )

1300 FOR J = 1 T0 BJ: INPUT K4(J),0(1,3),842,3) ,843,)

1310 FOR T =1 7D 3z IF O(1,3) < = 1 THEN 1330

1320 INPUT GN{I,J)

1330 NEXT 1

1340 NEXT J

1350 PRINT D#;*CLOSE®;Al$

1360 PRINT D$;”OPEN FROST*: PRINT D3;*DELETE FROST"

1370 PRINT D#;*OPEN FROST,L*;MMAX:FT = O

1380 PRINT DS;"OPEN FRONTIQ,L®;MAXB:19 = 0

1390 XJ = LM:¥) = LJ:13 = BJ

1400 IL = K9:IN = WF: BOSUB 1410:KMAX = b: 6OTO 1430

1410 FOR 1 = § 70 IL:ACI) = 0: HEXT I

1420 FOR 1 =1 T0 IN:BCI) = 0: NEXT I: RETURM

1430 FOR LI = | TO NUEL: PRINT DS$;*READ FRONTIO.R*; 10

1440 INPUT M0,XO,NQ,NR,KS: FOR | = | T0 KS: INPUT LECI): HEXT

1450 FOR 1 =1 70 H@: INPUT LF(1): NEXT I: PRINT D$210 = 18 + 1

1460 L1 = XiKILD)) =~ XWQHLD Y22 = YIKILLD) - YQULD)

470 L= SR (L1 ¥ UL ¢ L2 ¢ LD:CT = L1 / LiST = L2/ L

1480 DL = JRINS(LL)) / L:BL = XR(WS(LD)) / L:CL = €1 - DL - BU)

1490 AE = AREAMNSILT)) / 1.2:E = EMNSILD)aID = J1OMS(LD) JaARER = AREACIDILI)):6 = E / (2 % (1 + PT))



1500 ALPHA = (12 s E # I1) / (CL4CL#L L ¢ 6% AE) 157

1510 IF SHEAR$(M3{LI)) = °"N* THEN ALPHA = 0

1520 STU1,1) = € # AREA / L

1530 ST(1,4) = -~ ST{1,1):5T(4,4) = ST{1,1)

1340 §T42,2) = 12 ¢ £ # 11/ ({1 + ALPHA) # CL ~ 3 # L ~ 3):57T1(5,9) = §T(2,2)

1520 ST(2,3) = 12 ¢ £ # 17 # DL / () + ALPHA) # CL ~ 3 # L # L) + & # € & 17 / ((1 + ALPHA) # CL # CL ¢
LsL) :

1560 ST(3,5) = - ST(2,3):8742,5) = - §T(2,2) )

1570 ST(2,6) = 12 # E # 17 € BL / ({1 + ALPHA) # CL ~ 3 # L # L) ¢ 6 $ E # F1/ ({1 + ALPHA) # CL # CL ¢
L # L):ST(5,8) = - §T(2,8) '

1580 ST(3,3) = 12 » E # I7 2 DL # DL /7 ({1 + ALPHA) # CL ~ 3 # L) # 12 #E # 17 # DL / ({1 + ALPHA) # C
LeCL#L)+ (4+ALPHA) ¥ E ¢ 11 /7 ({} + ALPHA) # CL # L)

1590 ST(3,6) = 12 # € # J1 # BL # DL / ({1 + ALPHA) # CL 3 # L) + 6 # E # I ¢ DL / ({1 + ALPHA} # CL
$+ CL ¢ L) : .

1600 ST(3,6) = ST(3,6) + 6 ¢+ E # I1 # BL / (1 + ALPHA) # CL # CL # L} + {2 - ALPHR) # E % [1 / ({1 + &
LPHA) # CL ¢+ L)

15610 ST(b,b) = 12 ¢+ E # 11 # BL # BL / ({1 + ALPHA) # CL ~ I # L) + 12 # E # 17 & BL / ({1 + MPHA) # €
L#CL ¢L) + (4 +ALPHA) ¢ E # 17 / ({1l + ALPHA) % CL # L)

1620 Si1) = CT # CT & ST(4,1) + ST # ST # 57(2,2)

4]

1630 (2} = CT # ST # §T(1,1) - 5T # CT # §7(2,2)
1640 513) = - ST # §T42,3)

1650 S¢4) = CT « CT ¥ ST(},4) + ST % ST # S7{(2,5)
1660 5t3) = CT # 57 # 5T¢1,4) - 5T # CT # S5T{2,5)
1670 518) = - ST & 57(2,8)

1680 St7y = ST & ST # ST{i,}) + CT # CT # ST{2,2)
1690 Si6) = CT # §T(2,3)

1\

1700 S(9) = €T & 57 % ST{i,&) - CT # ST & S¥{2,5)

1710 S(10) = ST & ST # 5T{{,4) + LT # €T # ST{2,0)

1720 S{11) = CT # 5742, 8

1736 S€12) = 5T(3,3):8413) = - ST & ST(3,52:S{14} = CT # 5T(3,5):5(15) = ST(3,4)

1740 S(16) = CT # CT  ST(4,4) + 57 # ST & 5T(§,3)

1750 5417) = ST ¢ €7 # ST(4,4) - ST & CT # S5T(5,5):5(iB} = - 5V ¢ ST{5,h)

1760 S{19) = ST # ST # §7(4,4) + CT # CT ¢ S7(3,5)

1770 §i20) = CT & 5T(3,6):5(21) = 57(4,4)

1780 FOR 1 = | YO MD:FIXED(I) = O: HEXT I

1790 IF LB ¢ = 0 OR XJ = O THEN 1930

1800 FOR J = 1 TO LK: IF LI = K1(J) THEN 6OSUB 1B20

1310 MEXT J: GOTO 1930

1820 FIXED{2) = FIXED(2) + 0.5 ® HL(J) 2 CL # L:FIXED(S) = FIXEMD + 0,5 # &Ad) s (L ¢ L

1830 FIXER(S) = FIXED(Z) + (ML) # CL ¥ CL ¢ L # L /7 §2) ¢ (0.5 # MLCJ) a DL ¢ CL # L 2 L):FIJED(4)
FIXED(G) - (MLtJ) # CL ¢ CL # L # L / 12) - €0.5 # HL(J) # BL ¢ CL # |L ¢ L)

1840 IF K2{J} < = 0 THEN 1920

1850 FOR K = 1 TD K2(J)

1856 P1 = THK )AL = T2{K,J} - (DL # L):Bl = CL # L - AL

{870 FIXED{2) = FIXED{2}) + P1 # Bl # BZ # {3 # AL + Bl) / {CL # CL ¢ CL 2 L # { ¢ L)

2880 FIXED(S) = FIXED(S) + P1 » A7 # A7 # {3 #BL +AD) / (CL #CL #CL 2L #L #}L)

1890 FIXED{3) = FIXED{3) + PL 3 AL # BI # Bl / (CL # CL # L # L) +PL # B]l + BT # DL % (3 & 4 + BI) /
{CL#CL#CL#L#L)

§900 FIXED(S) = FIXED(S) - P1 # AT + AT # BL / (CL ¢ CL ¢ L # L) - P1 ¢ AT % AT # BL ¢ (3 # Bl + A1) /
{CL+CLeCLoL L)

1t

1910 RNEXT K
1920 XJ = XJ - 1:J = LK: RETURN
1930 FIXED(L) = - ST & FIYED{2):FIXED(4) = - ST # FIXED(5)

1940 FIXED(2) = CT » FIXED{2Y:FIXED(S) = CT ¢ FIXED(S)
1950 IF LI ¢ =0 0R YJ ¢ =0 THEN 2030
£960 FOR J = 1 70 LJ: IF J(LT) = K3(J) THEN 6OSUB 1990



1970 IF KiL1) = K3(J) THEN G60SUB 2010
1980 NEXT J: BOTO 2030 158
1990 FOR I = 1 10 3J:FIXED(I) = FIXED(I) + PUI,): MEXT I .
2000 YJ = YJ - 1:K3(J) = O: RETURN
2010 FOR 1 =1 10 3:01 =1 ¢ 3:FIXED(II) = FIXEDCIL) + P(1,J)c NEXT I
2020 YJ = YJ - 1:X3¢J) = 0: RETURN
2030 IF 13 < = 0 THEN 2250
2040 FOR J = 1 10 BJ: IF J(LD) = K4{J) THEN 6OSUB 2070
T2050 1F KILI) = K4(J) THEN GOSUB 2140
2060 NEXT J: BOTD 2250
2070 FORI=1T03: IF 1 =1 THENK =1
2080 IF1=2THENK =7
2090 IF I =3 THEN K = 12
2100 GOSUB 2110: MEXT 1:1J = 1J - 1:K4(J) = 0: RETURN
2010 IF QU1,d) ¢ 2 THEN 2130
2120 SIK) = 1.E3S:FIXEDIL) = QN(I,J) # §,.E35: 6070 2150
S 2130 IF @(1,J) = 0 THEN 2150
2040 SK) = 1E3S:FIXEDD) = 0
2150 RETURN
2160 FOR 1 =1TDO3: IF 1 =1 THENK = 1b
2070 IF1=2THENX = 19
2180 IF 1 =3 THEN K = 21
2190 60SUB 2200: MEXT I:1J = 1J - 1:X4¢J} = 0: RETURN
2200 IF §41,3) < 2 THEN 2220
2210 S§K) = LLE3S:FIXEDSI + 3)
2220 IF Q{1,J) = 0 THEN 2240
2230 SIK) = LLE3S:FISEMT + 3)
2240 RETURN
2250 FOR I =1 7O #D:X = 1 + 20:8IK) = FIXED(I)s REXT I
2260 NT = N@: GOSUB 2270:MB = 0: 60TO 2300
2270 NOU1) = f:LL = NT + 2 FOR 1 = 2 TONT
2280 NOCI) = ROCT = 1) # LL - I: NEXT I: RETURN
2290 REM #%s RON 42
2300 HB = NB # 1:IR = I:HE =MD # NO - (M3 # (M0 - 1)} / 2:MN = 0:JR = N
2310 REM #3# SEMBLE #3t :
2320 3 = H§ - KS # 1)L = 0
2330 FOR M =1 T0XS5:J = J + 121 = LE(M)
2340 IF 1T C IR ORI > JR THEN 2340
2350 B{I) = B{I) + S{J + 1)
2360 FORN =M TOKS:L =L ¢1
2370 IF LE(N) < LE(N} THEN I = LEIM)
7380 IF LE(N) < = LE{M) THEN I = LE(N)
2390 IF I < IROR I > JR THEN 2430
2400 1F LE(M) > LE(N) THEN JJ = LE(M)
2410. IF LE(N) > = LE{M) THEN JJ = LE(W)
2820 KK = NOUI) - 1 + 33 - MW:ALKK) = ALKK) + S(L)
2430 NEXT N: HEXT M
7440 IF NB = | THEN IR = 2
2450 IF M@ > 0 THEN 6OSUB 2480
2460 607D 2550
2370 REM #%% REDUCE #3s
7480 FOR 1 = IR TO JR:1D = NOCI) - | - ¥M:J2 =1 - |
2090 IF [ ) M@ THEN J2 = MO
2500 FOR J = 1 70J2:30 = NO(J) - J:L = - ALJD + 1) / ALJD + J)
2510 B{I) = B(I) +.BLJ) # (
2520 FOR K = 1 TO NO:A{10 + K) = AC(ID + K} + RCJO + K) ¢
2530 NEXT K: NEXT J: NEXT §

GN(1,J) # }.E33: 6070 2240

i

9
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2540 RETURN

2550 IF M@ ¢ =0 THEN 25600

2560 PRINT D3;"NRITE FROST,R®;FT:- PRINT NE
2570 FOR 1 =1 TG NE: PRINT AlD): NEXT I
2580 FOR 1 = ) TO M@: PRINT B{l): NEXT I
2590 PRINT D$:FT = FT + |

. 2600 IF M@ ( = 0 THEN 2620

2610 IL = NE:IN = MG: GOSUB 1410

2620 1F L1 ¢ NUEL THEN 60SUB 2650

2530 60T0 3100 '

2640 REM  ##s SETCORE -#&#

2550 IN = MR - M@

2660 IF IN ¢ O THEN 2690

2670 IF IN = 0 THEN 3080

2680 IF IN > O THEN 3040

2630 NT = N@: BOSUB 2710: 6OTO 3000

2700 REM ##+ SCRMBLE #%#

2710 K = 0z IF N@ > = NT THEN 2730

2720 J = M@ + 13 FOR I = J TD NT:EF(I) = 0: NEXT I
2730 FOR M = K@ T0 N@

2730 N = LF(M): IF N = # OR N = 0 THEN 2990

2750 LF{M) = LF(NI:LF{N) = N

7760 IF W > = N THEN 2780

2770 1 = #:d = H: BOTO 2790

L2780 I = N:d =

2790 51 = 1:SN = J: BOSUB 2810: 6OTO 2970

2800 REM #3% SNITCH 42 '

2810 C = B(SM:B{SM) = BISN) -

2820 BISN) = C:NS = ROISM) - SM:NS = NO(SH) - SN
2830 C = AINS + SMY:A(NS + SM) = A(NS + SM)IIAINS + 5M) =
2840 IF SM = 1 THEW 2880

2850 1¥' = 6% - 1 :

2860 FOR 1 =1 10 1Y:15 = NO(I} - I:C = A(IS + 5M)
2070 ALIS ¢ SM) = A(IS + SH):ALIS + SH) = C: NEXT I
2880 J1 = SM ¢+ 13 IF J! = SN THEN 2920

2890 32 = 5N - |

2900 FOR J = 31 TD J2:35 = NOMd) - 3:C = A(KS + J) e
2910 AIMS + J) = ALJIS + SNIIACIS + SN} = C: MEXT J
2920 1F SN = NT THEN Z960

2930 J1 = SN + |

2940 FOR J = J1 TD NT:C = AINS + J):A(NS + 3) = ALNS + J)
2950 AINS + J) = C: NEXT J

2960 RETURN

2970 K = K + It IF K > HT THEH STOP

2980 6070 2740

2990 NEXT M: RETURH

3000 K = 0 FOR I = 2 TO KRsK = K + IN:N = KO(D)
30010 N =M+ N -1: FORL =M 7D HsALL # K) = AlL)
3020 A(L) = 0: NEXT L: NEXT I

3030 NT = NR: BOSUB 2270: §0T0 3090

3040 M = NONOY + 1:K = IN # NO:L = N@ - |



160

305 FORI=1TOL:M=K-140sK=K-1N:N=N+K
3060 FOR J = 1 T0 T:A(N - J) = A(N - J):A(N - J) = 0 NEXT J3 NEXT !
3070 NT = NR: GOSUB 2270
3080 NT = NR: GOSUB 2710
3090 * RETURN
3100 NEXT LI
3110 SUBMAX = {KMAX + 1) # 20
3120 PRINT D$;°CLOSE FROST®: PRINT D$;°CLOSE FRONTIQ®
3130 IF BB = 2 THEN 3180
3140 TEXT 3 POKE 34,4: HONE 3 VIAB b: INVERSE : PRINT °.........EXECUTE DATA : FRONTST.........": NORMAL
POKE 34,6 :
/3150 VTAB 11: PRINT *INSERT PROSRAN DISK INTO DRIVE®
3160 GOSUB 1070 '
3170 TEXT : POKE 34,4: HONE : VTAB b: FLASH : PRINT *.........EXECUTE DATA : BACKSUB......... *: NORMAL
: POKE 34,6
3180, PRINT D$;*BRUN BACKSUB.0BJ,D*;A4
3190 END



1000
1610
1020

REM  ¥+# BACKSUB ¥s+ THIS SUBPROGRAM MUST BE CREATED BY TASC
REM ! USECONNON A1$,MF,NMAX,MAXB,1Q,FT,F$ NP NUEL,LN,LJ,NS,BJ,PT AA,EB

REM ' USECOMMON X{B0),Y{80),J {135} K{135),05(135) (AREA(1S),17(15},E(1T3) ,JR{15) ,KR{15) ,SHEARS {13)

X1175) K275} ,K3(25) KA {15} ,K5(15) ,ML(7S), TH(S,75),T215,75),P13,25),0(3,15) ,@N(3, 15)
1030 D$ = CHRS (4) -

1040
1050

1060
10790
1080
1090
1100

110
120
130
1140
1150
1160
170

IF BB = 2 THEN 1100

TEXT : POKE 34,3: HOME : YTAB 6: INVERSE : PRINT *.........EXECUTE DATA : BACKSUB.........*": NORMAL

POKE 34,6
VTAB 11: PRINT "INSERT DATA  DISK INTO DRIVE®: 5OSUB 10703 60TD 1100
YTAB 14: .PRINT "PRESS "RETURN XEY' TO CONTINUE®: VTAB 14: HTAB 32: INPUT **;6%

IF 6% < > °° THEN PRINT CHR$ {7)r POKE 34,13: HOME : TEXT 3 POKE 34,4: 6070 1070 -

HOME : RETURM

TEAT : POKE 34,4: HOME : VIAB 61 FLASH @ PRINT *......... EXECUTE DATA : BACKSUB........

POKE 34,6
DIN ET{6),YNIb),TP{b,8)

DIN X(80),Y(80) 3135} K(135) ,H5(135) ,AREA (15}, 17(15) ,E(15) , JRU15) KR(15) , SHEARS (15)
DIN K1175),K2(75),K3(25) ,K4{15) ,K515) NL{75),TH(5,75),T2:5,75)

DIN P(3,25),0(3,15) ,GN{3,15)

DIM LE(&),LF (42) ,NO(42),B{42) ,A(1080) ,5T (6,63 ,FIXED{a) ,AF (1050)

PRINT D$;°OPEN FROST,L”;MMAX;*,D*;BB

PRINT D3;°OPEN FRONTIO,L”;MAXB

1180 HDDE = 2:HD = 3:MD = NODE # ND
1190 DX = NP:DY = DX + NP:XJ = LM
1200 HY = 241sHY = HX + NUEL:HI = HY + NUEL:0X = HI + NUEL:0Y = DX + RUEL:0Z = OV + RUEL

1210
1220
1230

1240 .

1250
1260
1270
1280

FOR BA = 1 TO NUEL:IB = 1@ ~ |

PRIRT D$;"READ FRONTIO,R*; 18 .
INPUT ¥@,X0,NQ,NR,KSe FOR 1 = | TO KS: INPUT LE(I}: HEXT I
FOR 1 = 1 TO NG: INPUT LF(1): NEXT I: PRINT D$

IF H@ = KO THEN 1289

FOR I = X0 7O M2:L = LF(1)sND(I) = BiL): HEXT ]

FOR 1 = K& TO N@:B(I) = NO{I}: NEXT 1

IF B ¢ =0 THEN 1480

"

1290 FT = FT - |

1300
1310
1320
1330
1340
1350
1360
1370
1380

PRINT D3; "READ FROST,R"jFT
INPUT NE: FOR 1 =1 YO NE: INPUT A(D): NEXT I

FOR I = 1 TO'N@: INPUT B{I}: NEXT I: PRINT D$

6OSUB 1360 :

BOTO 1440

REN 345 BPASS H44

DEF FN NNILLY = N@ # LL - (LL # (kL - 1)) / 2 + 1

IF M2 = NO THEN 1400

FOR 1= 170 MQ:K = FN NM{I - 1) - 13 FOR J = KO T0 Ho

1390 B{I) = BCI) - A{J ¢ K) # B(J)s NEXT J: NEXT |
1400 M = M@ + 1:7 = FN NNIMD - 1):B(ND) = BUNG} / ALD)

1410
1420
1430

1440 X = FM RNUT - 1):B(D

1F M@ = | THEN 1450
FORL =270 MQ:1 =N
FOR J = Jt 1O M@:8(1)

Lidl =1 ¢ 1:K = FN RN(T - 1} - ]
B(I) - AlJ + K) & B(J): NEXT J
BEIY 7 AIK): NEXT L

1
1]

"

161
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1450 RETURN
1460 FOR I = 1 1O KS:L = LE(])

1470 ET(1) = BiL): NEXT I
1480 LT = MUEL + { - BA
1490 AFLIOLD)) = ET(D)
1500 AF(ILI) + DX) = ET(2)
1510 AF(JiLL) + DY) = ETA3)
1520 AF(KILD)) = ET(4)
1530 AF(K(L) + DX) = ETIS)
1540 AF(KILZ) + DY) = ET(6)
1550 L1 = XKILD)) - XWILID:L2 = YIK(LD)) - vedaLad
1560 L= SOR (LI ¥ LI ¢+ L2#L2CT =L/ LsST=12/1L
© 1570 BL = JRINSILI)) / L:BL = KRONSCLI)} / LsCL = {1 - DL - BL)
1580 AE = AREAINS(LI)) / 1.2:E = EINS(LI)):1Z = 12(NSILI)):AREA = AREA(NS(LINI:B = € / (2 ¢ {1 + PT))
1590 ALPHA = (12 ¥ E 3 I1) / (CL#CL ¥ L # L % § # ) :
1600 IF SHEARS(NSILI)) = *N* THEN ALPHA = 0°
1610 STi1,1) = £ % AREA / L -
1620 ST1,2) = 0sST(1,3) = 0:5T{1,5) = 0:5T(1,6) = 0357(2,4) = 0:5T(3,4) = 0:5T(4,5) = 0:5T(4,6) = 0
1630 §Ti1,8) = - ST{1,1):57(4,4) = 5T(1,1)
1640 57(2,2) = 12 % E # 11/ ({1 + ALPHA) # CL ~ 3 # L ~ 3):8TH5,3) = 5T2,2)
1650 ST(2,3) = 12 # E# 17 # DL / ({1 + ALPHA) #CL A3 8 L # L) + 5 4 € ¥ 11/ ({1 ¢ ALPHA) 5 CL # CL +
L+L)
1660 ST{3,5) = - 8T(2,3):87(2,5) = - 5T(2,2)
1570 ST(2,6) = 12 # E # 17 # BL / ({1 + ALPHA) $CLA 3 Lo L) + 6+ E % 12/ ({1 v ALPHA £ CL s CL @
L #L):ST(5,6) = - STI2,6)
1680 ST(3,3) = 12 ¢ E # 17 $ DL # DL / (i1 # ALPHA) ¢ CL~ 3 #L) # 12 # E # 17 % DL / ({1 + ALPHA) & C
CLECL L)+ {4+ BLPHAY ¥ E 3 12/ ({1 + ALPHA) %:CL # L)
1690 ST(3,60 = 12 # E # 17 # BL # DL / {1 + APHA) 5 CL~3 #L) + 6% E % I1 # DL / (1. + ALPHA) a L -
L s L) :
1700 STU3,6) = ST(3,6) + 6 3 E # [1 ¥ BL / ({1 + ALPHA) #'CL-# CL # L) + (2 - ALPHA) # E & 11/ (C1 + A
LPHA) # €L # L)
1710 5Tibyb) = 12 ¢ E £ 12 ¥ BL ¥ BL/ ({1 +ALPHRA) #CL~3 5 L) + 12 ¢ E # 17 5L / ({1 + ALPHA) ¥ €
LECLEL) + (4 ¢ ALPHA) # E 5 17/ ({1 + ALPHA) # CL # L)
1720 FOR 1 =) TOMD: FOR J = I TO MD
1730 §T(J, 1) = ST{I,d): NEXT J: HEAT I
1740 FOR 1 =1 TO ND: FOR J = | TO MD
1750 TP(1,3) = 0: NEXT J: HEXT I
1760 TP{1,1) = CT:TP(2,2) = CT:TP{4,4) = CT:TPI5,5) = €T
1770 1P(1,2) = ST:TP{2,1) = - ST:TP{4,5) = ST:TP(5,4) = - T
1780 TP(3,3) = 1:TP(6,6) =
1790 FOR 1=1 70 MD: FOR K = 1 TO MD:VA(K) = ST(I,K): MEXT K
1800 FOR J = 1 T MD:ST(I,J) = 0s FOR K = 1 TO WD
1810 ST{1,d) = ST(1,J) + UN(K} & TP{K,d): NEXT K: MEXT J: NEXT I
1820 FOR I =1 T MD:FIXED(I) = 0: NEXT
1830 IF LM< = 0 OR XJ = O THEN 1970
1940 FOR J = 1 TO LM: IF L1 = K1(3) THEN GOSUB 1840
1850 NEXT J: 60TO 1970 -
1860 FIXEDI2) = FIXED(2) - 0.5 % NL(J) # CL # L:FIXEMS) = FIXED(S) - 0.5 ¢ ML(J) # CL ¢ L
1870 FIXED(3) = FIXED(3) - (ML(J) # CL # €L # L # L / 12) - (0.5 # ML(J) # DL # CL # L # L):FIXED ()
FIXED(B) ¢ (ML{J) # CL #CL o L 6L/ 12) + (0.5 ¢ BL(J) EBL # CL # L ¢ L)
1880 IF K2J) < = O THEN 1940
1890 FORK = 1 10 K2(J)
1900 P1 = THK,J):AL = T2{K,J) - (BL ¢ L):BI = (CL # L) - Al
1910 FIXED(2) = FIXED(2) - PL 3 B ¢ BI # (3 AL +BD) / (CL # CL s CLt L s L ¢ L)
1920 FIXED(S) = FIXED(S) - P1 # A ¢ AL # {3 # BT + AI) / (CL # CL ¢ CL ¢ L ¢ L ¢ 1)
1930 FIXEDI3) = FIXED(3) - PL # AZ # BZ # BT / {CL ¥ CL ¢ L » L) ~PI & B2 % BI ¥ DL & {3 # AL + BI) /
CLeCLsCLEL * L)
1940 FIXED(A) = FIXED(6) + PL # A1 % A7 # B1 / (CL ¥ CL # L # L) + PL ¢ AL # AL # BL + (3 4 B1 + A1) /
(CLeCLSCL AL #L)
1950 MEXT K

wu "N g o

i 1] 1]
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1960 X3 = X3 - 1:J = LM: RETURN

1970 FOR K = 1 70 ND:VMIK) = ET{K): NEXT K

1980 FOR 1 =1 70 MD:ET{I) = 0: FOR K = 1. TO MD

1990 ET(I) = ETC1) + YN(K) # ST{I,K)s NEXT K: NEXT I

2000 AF(LZ + HY) = ET(1) + FIXEDID)

2010 AFILT + HY) = ET(2) + FIXED{2)

2020 AF(LI + HI) = ET(3) + FIXED(3)

"2030 AF(LL + OX) = ET(4) + FIXED(A)

2040 AF(LT + OY) = ET(5) + FIXED(S)

2050 AF(LT + O1) = ET{4) + FIXED{S)

2060 NEXT BA '

2070 PRINT D$;*OPEN RESULT*;Al$

2080 PRINT D$;*DELETE RESULT";AI$

2090 PRINT D$;*OPEN RESULT"jAl$

2100 PRINT D$;"WRITE RESULT";A1$

2110 PRINT A1$: PRINT F$: PRINT MUEL: PRINT NP

2170 FOR L1 = | 10 NUEL: PRINT J(LI): PRINT K(LI): PRINT AF(LL + HX): PRINT AF(LZ + HY): PRINT AFILI +
HI): PRINT AF(LZ + 0X): PRINT AF(L1 + OY): PRINT AF(LI ¢ OZ): NEXT LI

2130 FOR LI =1 TONP

2140 PRINT AF(LI}: PRINT AF{LI + DX): PRINT AF{LI + DY)z NEXT LI

2150 PRINT D$;°CLOSE RESULT®;AL$

2160 POKE 779,AA: POKE 780,B8

2170 B3 = LEN (A1$): POKE 749,88:C8 = B8

2180 FOR 1 = 1 70 B8:YY$ = RIGHTS (A1$,LB)

2190 A4S = LEFTS (YY$,1):d = 1 + 76%1K = ASC (A4$)

7200 POKE J,K:(8 = £8 - 1: NEXT I

2210 IF BB = 2 THEN 2260

2220 TEXT : POKE 34,4: HOME 3 VTAB b: INVERSE 1 PRINT ".........EXECUTE DATA : BACKSUB......... *s NDRMAL
: POKE 34,6

2230 VIAB i1: PRINT "INSERT PROGRAM DISK INTO DRIVE®

2240 GOSUB 1070 ’

27250 TEXT 3 POKE 34,4: HOME : VTAB b FLASH : PRINT *.........EXECUTE DATA & RESULT..........": NCRWAL
1 POKE 34,6

2260 PRINT D$;°RUN RESULT1,D*;AA

2270 END
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1000 REN ###RESULT)#ss
1010 HOME :D$ = CHRS (13) + CHRS (4)
1020 AA = PEEK {779):BB = PEEK (780}
1030 B8 = PEEK {769):¥Y$ = **: FOR 1 = 1 T0 B8:J = I + 769:K = PEEK (J)
1040 A4S = CHRS (KDsYY$ = YY$ + A4S NEXT I
1050 Al$ = YY$
1060 IF BB = 2 THEN 1150
1070 TEXT 3 POKE 38,42 HONE : VIAB b: INVERSE : PRINT *......... EXECUTE DATA : RESULT......... .*: NORMAL
: POKE 34,6 :
- 1080 VTAB 1i: PRINT "INSERT DATA  DISK INTG DRIVE®: GOSUB 1090: 60TD 1150
1090 YTAB 14: PRINT "PRESS "RETURN KEY' TO CONTINUE®: VTAB 14: HTAB 32: GET 6%
1100 IF ASC {68) ¢ ) I3 THEN PRINT CHRS (7): 6OTO 1090
1110 HOME : RETURN ‘
1120 VTAB 22: PRINT *PRESS 'RETURN KEY' 70 CONTINUE*: VTAB 22: HTAB 32: GET G
1130 IF ASC {6%) ¢ > 13 THEN PRINT CHR$ {7): 6070 1120
1140 RETURM ~
1130 TEXT : POKE. 34,4: HOME : VTAB 8: FLASH : PRINT *.........EXECUTE DATA : RESULT........ ..": NORMAL
: POKE 34,6
1160 DIM A1200),A2(200) ,A3(200) ,A4(200) ,A5(200) , A4 (200} , A7(200) AB(200),A9200},J(200) K (200) , 48 (30)
1170 FRINT ns--opzn RESULT*;A1$;°,D";BB
1180 PRINT D$;”READ RESULT*;A1$
1190 INPUT ALS,F$ NUEL,NP
1260 FOR LZ = 1 TD NUEL: INPUT J{LD)K(LD, Al(LZ) AZILD) A3ILD) AA(LT) (ASHLD) ,ABCLT): REXT LI
1210 FOR LZ = 1 TO NP: INPUT A7(L1),ABILL),A9(LL): HEXT LI
1220 PRINT D¥;"CLOSE RESULT*;A$(1)
1230 FOR I = { 70 S: PRINT CHR$ (7): NEXT I
1240-"HOME : VTAB 8: PRINT °PLEASE,TURN ON PRINTER®: GOSUB 1090
1250 TEXT : HOME :WRITE = 52480: PR# 1: PRINT CHRS (0): PR3 I
1260 - PRINT ® == mm e e e e e e
1270 PRINT 'i*i*ii’i!ii*!***i MEMBER FDRCES IN LOCAL COORDINATE #sssrsasssasssss®
1280 PRINT * .
1290 PRINT *FILE NAKE : *;Al$
1300 PRINT °TITLE & *;F$: PRINT
1310 PRINT *NEMBER MD. NODE AXIAL FORCE SHEAR FORCE NOMENT®
1320 PRINT P=vmememomm mem el i .
1330 FOR L1 = § TO NUEL
1340 CALL WRITE:LI;I8," "
1350 CALL WRITE:J(L1);14," "
1360 CALL WRITE:A1{L1);F10.4," *
1370 CALL NRITE:A2(L7);F10.4," *:
1380 CALL WRITE:A3(LZ);F10.4, CHRS$ (13):
1390 PRINT SPC( 11): CALL WRITE:K(LI);17,° *
1400 CALL WRITE:A4(LI);F10.4," *
1410 CALL WRITE:AS(LD);F10.4,*
1420 CALL MRITE:A&(LI);F10.4, CHRS (13):
1430 NEXT LI




1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580
1590
1600
1619

PRINT
PRINT *
PRINT "ssesszessssss NODAL DISPLACENENTS IN GLOBAL COORDINATE sastsssviisss”
FRINT *--mmm=emmsmmmmmmmmmme o eme e -t
PRINT "NODE SN DY R1°

PRINT *---- S - -- -

FOR L1 = 1770 NP

CALL WRITE:LZ;I3," "

CALL WRITE:A7{L1);ES,”  *:

CALL WRITE:ABILI);ES,"  *:

CALL WRITE:A9(L1);ES, CHRS (13):

NEXT LI: POKE 53247,235

PDKE 34,6: PR} O PRINT : PRINT : PRINT : PRINT : 60SUB 1120

IF BB = 2 THEN 1400
TEXT : HOME : VTAB {3: PRINT "INSERT PROGRAM DISK INTO DRIVE®

BOSUB 1090
PRINT D$; "RUN DPTIONS,D";AA
END

165



1000
1010
1020
1030

1040

1050
1060
1070
1080
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REM ##& DISPLAY DATA #e#
TEXT: HOME :AA = PEEK {779):BB = PEEK {780)
IF BB = 2 THEN 1040

'YTAB 112 PRINT ®INSERT DATA  DISK INTO DRIVE®: 60SUB 1060: §0TO 1090

YTAB t1: PRINT “INSERT PROGRAM DISK INTO DRIVEM®

VIAB 12: PRINT "INSERT DATA  DISK INTO DRIVE#2": GOSUB 1060: 6070 1090
VTAB 14: PRINT "PRESS "RETURN KEY™ TO CONTINUE®: VTAB 14: HTAB 32: GET 63
IF ASC {6%) < > I3 THEN PRINT CHR$ (7): 607D 1060

RETURN

1090 D¥ = CHRS (13) + CHR$ {4): 60TD 1130

1109
11190
1120
1130
1140
1150
1160
170
1180
1190

1210
1220
1230
1240
1250
1250
1270
1280
1290
1300
1310
1320
1330
1340
1350
1359
1376
1380

200

VIAB 22: PRINT *PRESS 'RETURN KEY' TO CONTINUE®: YTAB 22: HTAB 32:GET 63
IF ASC {B$) ¢ > 13 THEM PRINT CHR$ (7): GOTO 1100

RETURN

TEXT & HONE : VIAB 2: PRINT "INPUT NAME OF DATA FILE 10 BE DISPLAYED®
VIAB 4: PRINT *FILE NAME : *;: INPUT *";Al3

VIAB &: FLASH : PRINT *.WAITING.®: NORMAL

PRINT D$;*O0PEN";ALS$;",D"; BB

PRINT D$;°READ";A1$: INPUT F$,NP,NUEL,LN,LJ,HS,BJ PT ,

DI X(NP),Y(NP);J(NUEL) K (NUEL) , M5 {HUEL) AREQ(HS) ,11{NS) ,E(NS)

DI K1 (LM} ,KZ(LM) ,K3(LI) ,K4(BJ}

DIN HLLM},T1(5,LM),T2(5,LK)

DIN JRINS) KR (MS) ,SHEARS (NS} ,P{3,L1),0(3,B3),BN{3,BJ)

FOR J = 1 T0 NUEL: INPUT J0J),K{d): NEXT 3

FOR 3 = 1 TO NP: INPUT X{J),Y(J): NEXT J

FOR J = 1 70 HS: INPUT E(J),nREA(J) 1240),dR (1) KRUJ) SHEARS (1) NEXT J
FOR J = 1 TO NUEL: INPUT W5(J): HEXT J

IF LK < = 0 THEN 1310

FOR J = 1 TD LM: INPUT K1(J),MLD),K2(3)

IF K200) < = 0 THEN 1300

FOR K = 1 TO K2(3): INPUT THIK,J),T20K,d): NEXT K

MEXT :

IF LJ ¢ = 0 THEW 1330

FOR J = 1 T0 Lz INPUT K3(3),PC1,3),P(2,0),P(3,0): NEXT §

FOR 3 = 1 70 BJ: INPUT KA(3),B(1,3),0(2,3),0(3,)

FOR 1 =1703: IF Q41,5 ¢ = 1 THEN 1350

INPUT GN{I,)

NEXT 1

NEXT J

PRINT D$;*CLOSE®;A1$:HRITE = 49568

1399 Ans = ° *

1400

POKE 34,4: HOHME : VTAB 6: PRINT °PLEASE,TURN ON PRINTER®



1410
1420

- 1430

1440
1450
1460
1470
1480
14%0
1500
1510
1520
1330
1540
155
1360
1570
1380
1390
1500
1605
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840

PR¥ 1: PRINT CHR$ (0);: PR¥ O: GOSUB 1520: POKE 34;21: HOME
VTAB 22: PRINT *HARD COPY OF THESE DATA : 'Y'ES OR “N°0*

VTAB 22: HTAB 40: GET 6

IF 6% = ** THEN PRINT CHR$ (7): GOTO 1430

IF 6% ¢ > "Y" AND 6% < ) °N® THEN PRINT CHR$ (7): GOTO 1430

IF 6% = "N" THEN 1480

PRE t: PRINT CHRS (0);: GDSUB 2680: PR O: TEXT : HOME : 6OSUB 1100: HOME

IF BB =.2 THEN 1510

TEXT : HOME : VTAB 11: PRINT *INSERT PROGRAN DISK INTO DRIVE®

60SUB 1060
PRINT D$;°RUN OPTIONS,D";AA
TEXT & HOME

VIAB 2: PRINT "DATA FILE NAM
VIAB 4: PRINT "TITLE

VTAB 6: PRINT NO. OF NODES

PRINT *NO. OF MEMBERSS

PRINT "NO. OF LDADED MEMBERS
PRINT *NO. OF LOADED JOINTS

PRINT *NO. OF MATERIAL SETS

PRINT *NO. OF BOUNDARY JOINT
PRINT *PDISSON'S RATIO

BOSUB 1100

TEXT & HOME

VTAB I: INVERSE : PRINT AA$

VTAB 21 PRINT ®
VTAB 3: PRINT AAS: NORMAL
VTAB 5: PRINT "NODE

E

S

VTAB b: PRINT "---- ——

POKE 34,6
FOR J = 1 70 NP

CALL WRITE:J;I3,* =
CALL $RITE:X(J);F10.4," *:

*iAlS$
":F$

" s RUEL
"sLH
"Ly
;NS
*:8d
"3PT

LU TR BT

X - COOR.

;NP

HODAL PDINT COORDINATES

Y - COOR."

CALL WRITE:Y(J);F10.4, CHR$ (13):

NEXT J

PRINT : PRINT : PRINT : 60SUB 1100

TEXT : HOME
VTAB 1: INVERSE : PRINT AAs
YTAB 2: PRINT *

VTAB 3: PRINT AAS: NORMAL
POKE 34,4

FOR J = 1 TO MS: HOME : VTAB
PRINT *MATERIAL SET NO."J
PRINT *YOUNG's MODULUS

PRINT °AREA

PRINT "MOMENT INERTIA

HATERIAL SETS

(2]

SEW
*AREA(I)
1)

167
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1850 PRINT "RIGID IONE OF NODE 1 = *;JR(])
1860 PRINT "RIGID IONE OF NODE I = ";KR(J)
1870 IF SHEARS(J) = *N* THEN PRINT "SHEARING DEFORMATION : NEGLECT®: 60T0 1890
1880 PRINT *SHEARING DEFORMATION : INCLUDE®
1890 BOSUB 1100
1900 NEXT J
1910 TEXT : HOME
1920 VTAB 1: INVERSE : PRINT AAS
1930 VTAB 2: PRINT *  NODE HO. AND PROPERTY OF ELEMENT  *
1940 VTAB 3: PRINT AA$: NORMAL
1950 VTAB S: PRINT "ELEN. NO. NODE I NODE J  MAT. SET*
1950 VTAB b2 PRINT °-- .
1970 POKE 34,6
1980 FOR 3 = 1 TO NUEL
1990 CALL WRITE:J;17," ™
2000 CALL WRITE:J(J);16,* °*:
2010 CALL WRITE:K(J)3I6,"  *:
2020 CALL NRITE:AS(J);16, CHR$ (13):
. 2030 NEXT J

2040 PRINT : PRINT : PRINT : GOSUB 1100
2050 TEXT : HONE
2060 IF LN ¢ = 0 THEN 2280
2070 VTAB 1: INVERSE : PRINT AS$
2080 VTAB 2: PRINT *  MEMBER LOADS IN LOCAL COORDINATE  °
2090 VTAB 3: PRINT AAS: NORMAL
2100 VTAB 5: PRINT *CARD ELEM.  UNIF. NO. TRAN.  DIST.®
2010 VTAB &: PRINT * NO. NO.  LOAD TRAN. L@AD  -LEFT *
2120 VIAB 7: PRINT *--—- -—-- - :
230 POKE 38,7 S
2040 FORJ =1 TO LN
2150 CALL WRITE:J;13," *:
2160 CALL WRITE:K1{3};13," *:
2170 CALL NRITE:ML(J);F6.2,"
2180 CALL WRITE:K2(J);13, CHRS (13):
2190 1F X2UD < = 0 THEN 225
2200 FOR K = 1 T0 K20J)
2210 CALL WRITE,* K313
2220 CALL WRITE:TH(K,J);F6.2:
2230 CALL WRITE:T2(K,J);F5.2, CHRS (13):
2240 NEXT K
2250 NEXT J
2260 PRINT : PRINT : PRINT : BOSUB 1100
2270 TEXT : HOME
2280 IF LI ¢ = O THEN 2440
2290 VTAB I: INVERSE : PRINT AAS
23500 VTAB 2: PRINT *  JOINT LOADS IM GLOBAL COORDINATE
2310 VIAB 3: PRINT A%: NORMAL
2320 VTIAB 5: PRINT "CARD NODE  FORCE  FORCE  MOMENT®
2330 VIAB b: PRINT * N0,  NO. IN- IN-Y  AB.-1°
2380 VIAB 7: PRINT "---- —ooc  —oeee e R .




2350
2360
2370
2360
2390
2400
2410
2420
2430
2440
2450
2460

2470

- 2480
2490
2500
2510
2520
7530
2540
2550
2560
2570
580
2590
2600
2510
2620
2630

2640

2650
2660
2670
2630
2490
2700
2710
21
2730
20
2750

2760

2170

2775

2780
2790
2800

POKE 34,7
FORJ =170 L3

CALL NRITE:J;I3," *:

CALL WRITE:K3(J};13:

CALL WRITE:P(1,d);F8.4:

CALL WRITE:P(2,0);F8.4:

CALL WRITE:P(3,0);F8.4, CHRS (13):

NEXT J ,

PRINT : PRINT : PRINT : BOSUB 1100

TEXT : HOME

VIAB 1: INVERSE : PRINT AA$

YTAB 2: PRINT * BOUNDARY CONDITION AT JOINTS
VTAB 3: PRINT AA$: NORMAL

POKE 34,4

FOR 3 = 1 T0 BJ: HOME .

1 70 3: IF Q41,d) = 0 THEN ABS(D) = “FREE®

1

FOR I =

IF 84I,3) = | THEN AB${I) = *FIXED*
If 0{1,J) = 2 THEN ABS{I) = "KNONN®
NEXT 1

VTAB 5: PRINT °B.C. CARD NO.*;J

PRINT *B.C. JOINT NO. = *;K4(J)

IF AB${1) = "KNOWN® THEN 2580

PRINT *X - DISPL. = *;ABS(1): BOTO 2590
FRINT *X - DISPL. = ABS(1);%: *3ON(L,D)
IF AB$(2) = *KNOMN® THEN 2610 ‘
PRINT *Y - DISPL. *;AB$(2): BOTO 2620
PRINT *Y - DISPL. *ABH(2);": *;0M(2,3)
IF AB(3) = "KNOMN® THEN 2640

PRINT °ROTATION = *;AB$(3): 6OTD 2650
PRINT "ROTATION = *;AB$(3);": *;ON(3,d)

PRINT : PRINT : PRINT : BOSUB 1100
NEXT J
RETURN

TEXT : HOME :AA$ = * --
PRINT : PRINT AA$: PRINT
PRINT "DATA FILE NAME : *;Als$

PRINT "TITLE : i

PRINT : PRINT °ND. OF NODES = ";NP
PRINT "NO. OF MEMBERS = *;NUEL

PRINT *NO. OF LDADED MEMBERS = ";LM

PRINT *NO. OF LOADED JOINTS = *;LJ

FRINT *ND. OF MATERIAL SETS = *;u§

PRINT "ND. OF BOUNDARY JOINTS = *;BJ)

PRINT *POISSON'S RATIO = %P1

PRINT & PRINT
PRINT AAS

PR]NT SERERRERRERRIRRELRERESREE NODAL POINT COORDINATES #4383 303 43458 FE084°
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2810
2820
2830
2840
2850
2860
2870
2880
2890
2300
2910
320
2930
2940
2950
29560
2970
2980
2990
3000
3010
3020
3030
3040
3050
3060
3070
3080
3090
30
3110
3120
3130
3140
3150
3160
3179
3180
3190
3200
2
3220
3230
3240
3230
3260
3279
3280
3290
3300
310
132
3340
3340
3350
3360
331
3380

PRINT AAS
PRINT NODE X - COOR. Y - COOR.®
PRINT *=---  =cmmcemm e .
FOR J = 1 TO NP

CALL WRITE:J;13," ‘
CALL WRITE:X(J);F10.4,* =

CALL WRITE:Y{J);F10.4, CHRS (13):

NEXT J

PRINT : PRINT

PRINT AAS

PRINT “EREBSRssstessiseaabass HEREs NATERIAL SETS SS#ttissstssssbssb4issbo5631s"
PRINT AAS

PRINT "MAT. YOUNG'S  X-SECTION MOMENT RIGID JONE RIGID IONE  SHEARING®

. e

PRINT ® NO.  MODULUS -  AREA  INERTIA OF NODE I OF NODE-J  DEF-TION®
PRINT *---- -- I i e .
FOR J =170 45 ‘

CALL MRITE:J;T2,* *:
CALL WRITE:E(J);E5,"":

CALL NRITE:AREA(J);F10.4,"":

CALL WRITE:IZ(J);F10.4,"":

CALL WRITE:JR(J);F10.4,%%:

IF SHEAR$(J) = *1* THEN 3050

CALL HRITE:KR(J);F10.4,"  NEGLECT®, CHRS (13):
§0T0 3049

CALL KRITE:KR(J);F10.4,*  INCLUDE®, CHR$ (13):
NEXT J

PRINT : PRINT

PRINT AAS

PRINT #5335 45 304343320558 HODE NO. AND PROPERTY OF ELEMENTS ¢%5485 35585882053 53"
PRINT fAS

FRINT "ELEM. NO. NODE I NDDE J  MAT. SET®
1 SLEE— ’
FOR J = 1 TO NUEL

CALL WRITE:J;17," =

CALL MRITE:J(J);16,° 2

CALL WRITE:K(J);18,* ™

CALL WRITE:NS(J);16, CHRS (13):

NEXT J

IF LN ¢ = 0 THEN 3380

PRINT : PRINT

PRINT RAS

PRINT "#zsssassesstsisasess KEMBER LOADS IN LOCAL COORDINATE BRe83sssisissiisssss®

PRINT ARS

PRINT "CARD ELEMENT UNIF. ND. TRANY, Dist1.*
PRINT * NO. ND. LOAD TRANY, LOAD -LEFT ®
PRINT *----  —oemme- T e mmemes memeees *
FORJ =1 TO LA

CALL WRITE:J;I3," *:

CALL WRITE:KI¢);13,* *:

CALL HRITE:NML(J);F10.4," ”

CALL WRITE:K2(J};13, CHRS (13):

IF K200 ¢ = 0 THEN 3370

FOR K = 1 16 K200

CALL WRITE," STHK,D)F10.4,% s
CALL WRITE:T2(K,J);F10.4, CHRS {13):

NEXT ¥

NEXT J

IF L3 ¢ = 0 THEN 3530

170



3390
3400
3410
3420
3430
3440
3450
3360
3470
3460
3490
3500
3510
3520
3530
3540
3550
33490
3570
3580
3390
3500
3610
3620
3630
3540
3630
3460
3870
3680
3690
3700
3710
3120
373

3740
3750
3780
3110

PRINT : PRINT

PRINT RaAs

PRINT *ssssssessssssssssnst JOINT LOADS IN GLOBAL COORDINAYE ##sssssssssssssssnss®
PRINT AAS

PRINT °CARD NODE FORCE FORCE MOMENT®
PRINT * NO. NG. IN-X IN-Y AB.-1"°
PRINT ®---- e I ‘
FOR J =170 LJ :

CALL WRITE:J;13,° "
CALL WRITE:K3(J);13,* =

CALL WRITE:P{1,J);F10.4," *:

CALL WRITE:P12,J);F10.4," *:

CALL WRITE:P(3,0);F10.4, CHR$ (13):

NEXT J

PRINT @ PRINT

PRINT AAs

PRINT “ssxesssessarrsrsssssss BOUNDARY CONDITION AT JOINTS SEsss33vssaiassssstss”
PRINT AAS

PRINT “CARD NO. B.C.JOINT X-DISPL, Y-DISPL. ROTATION®
L e e . ’
FOR'd =1 10 B)

CALL WRITE:J;16,* "

CALL HRITE:K4(J);13," pH

CALL WRITE:@{1,d);14," "

CALL WRITE:002,0);14,* "2

CALL WRITE:003,3);14, CHR$ (13):

IF 8H1,0) < > 2 aKD 842,3) ¢ > 2 AND 43,3) < > 2 THEM 3740
IF G(1,3) < > 2 THEN PRINT SPC( 31): 6070 3480

PRINT SPCI 1B): CALL BRITE:ON(E,J);F10.4,* =

IF 812,d) < > 2 THEN PRINT SPC( 13): 6OTO 3700

CALL WRITE:QN(2,3);F10.4," *:

IF @43,d) ¢ > 2 THEN 3720

CALL KRITE:@N(3,d);F10.4:

IF QUL ) 2 AND 942,3) ¢ > 2 AND 8(3,d) < > 2 THEN 3740
CALL WRITE, CHR$ (13):

NEXT J

PRINT : PRINT °<0> = FREE z <1> = FIXED : (2> = KNOWN™

PRINT : PRINT AA$

RETURN
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1000
1010

1020

1030
1040
1050

1070
1080
10%0
1100
1110
1129
1130
1140
1150
1140
1170
11890
1190
1200
1210
1220
1230
1240
1250
1280
1270
1280
1290
1300
1310
1320
1330
1335
1340
135

1360
1370
1380

1390

REM ##6CHANGE DATAss+

AR = PEEK (779):BB = PEEK (780): TEXT 3 HOME

IF BB = 2 THEN 1040

VIAB 11: PRINT ®INSERT DATA  DISK INTO DRIVE®: GOSUB 1050: 607D 1090
VIAB 11: PRINT *INSERT PROGRAM DISK INTO DRIVEM]®

DISK INTO DRIVE#2": 6OSUB 1060: DT 1090
1060 VTAB 14: PRINT "PRESS 'RETURM KEY' T0 CONTINUE®: VTAB 14: HTAB 32: GET 6%
IF ASC {B%) C > I3 THEN PRINT CHR$ (7): GOTO 1040

VTAB 12: PRINT *INSERT DATA

RETURN

TEXT :D# = CHR$ (I13) + CHR$ (4): GOTD 1170

POKE 34,21: VTAB 22: PRINT *CONFIRM BY TYPE 'y'*

VTAB 22: HTAB 18: GET 6%
HOME : RETURN

POKE 34,21: VTAB 22: PRINT "ACCEPT THESE DATA : 'Y'ES OR 'N'D”

YTAB 22: HTAB 35: GET 6%

IF 68 C > °Y” 4ND 6% < > "N® THEN PRINT CHRS (7): HOME : 60TO 1130

"HOME : RETURN

TEXT : HOME : VTAB 2: PRINT "INPUT NAME OF DATA FILE TO BE CHANGED"

VIAB 4: PRINT "FILE NANE : *;: INPUT **;Al$
VIAB b: FLASH : PRINT ".WAITING.": NORMAL

PRINT D8;*0PEN";AL$;*,D*; B8

PRINT D¥3 "RERD';A1S: INPUT F$,N1,N2,L1,L2,M1,B1,F4: PRINT Db; CLOSE";A1$

TEXT : HONE :AD$ = *
VIAB 1: INVERSE : PRINT AD$

VTAB 2: PRINT * CHANGE DATA
VIAB 3: PRINT ADS: NORMAL : POKE 34,3

YTAB 5: PRINT "DATA FILE RAME :
VIRB 7: PRINT *TITLE :
YTAB 9: PRINT °NO. OF MODES
‘PRINT "ND. OF MEMBERS

PRINT *HO. OF LOEDED MEMBERS
PRINT "NO. OF LOEDED JOINTS
PRINT °ND. OF MATERIAL SETS
PRINT "ND. OF BOUMDARY JOINTS
PRINT "POISSON'S RATIO

POKE 34,16: VTAB 17: PRINT *CHAMGE THESE DATA : 'Y'ES OR 'N'0°

VIAB 17: HTAB 35: GET 63

*;Al$
"iF$
= "Nt
l;m
"L
"Lz
gLl
*;B1
" P4

IF 6% = *" THEN PRINT CHR$ (7): 6070 1350

IF 65 C > "Y" AND 6% < > "N THEN PRINT CHR$ (7): 6OTO 1350
IF 6% = °N* THEN N3 = M1:N4 = N2:L3 = Li:L4 = L2:M2 = MI:B2 = BI:PT = PANP = NI:NUEL = N2:0N =

1:Ld = L2:MS = W1:BJ = Bl: 6070 1560

TEXT : POKE 34,3

1400 HOME : VTAD S: PRINT *TITLE & *;: INPUT "U;F$

1410
1420
1430
1440
1450
1460
1465

VIAB 7: INPUT *HO. OF NODES
INPUT *HB. OF MEMBERS =
INPUT "ND. OF LOADED MEMBERS
INPUT *NO. OF LOADED JOINTS
INPUT “ND. OF MATERIAL SETS
INFUT "NO. OF BOUNDARY JOINTS
INPUT *POISSDN'S RATIO

H ';NP
* 3 NUEL
“iLN
"Ll
L
*;8J
" PT
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1470
1480
1490

60SUB 1100: POKE 34,3
IF 6% = *Y* THEN 1500
6070 1400

1500 N3 = NP:N4 = NUEL:L3 = LM:L4 = LJ:N2 = NS:B2 = BJ

1305
1510
1520
530
1540
155

1560
1570
1580
1590
1600
1610
1620
1630
1540
1650
1660
1570
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
18990
1900
1910
1920
1930
1940
1950
1960
1979
1980
1999
2000

IF N3 { = NI THEN N3 = NI
IF R4 ¢ = N2 THEN 83 = W2

IFL3 ¢ =41 THEN L3 = I}

IF L8 ¢ =12 THEN L4 = 12

IF M2 < = M1 THEN ¥2 =

IF B2 ¢ = BY THEN 82 = B{

DIN X{N3),Y(N3),J (N4} K{N4) N5(N4) (AREA(N2) , 17 (M2) (E(ND)

DI Kl(L}) K2(L3) K31L4) ,X4(B2)

DIM HL(L3),T1(5,L3),T2(5,L3)

DIM JR{M2) ,KR(MZ)  SHEARS (N2) yPE3,L4),013,B2) ,ON(3,B2)
PRINT D$;"OPEN";AL$

PRINT D$;°READ";AlS: INPUT F$,H1,N2,L1,L2,81,B1,P4
FOR J = 1 TO N2: INPUT J(J),K(J): NEXT J

FOR J = 1 70 Ntz INPUT X{J),Y(J): NEXT J

FOR J = 1 TO Mt: INPUT E(J) yAREALJ)  TT1J) JRJ) KR(J) ,SHEARS (J) s NEXT J
FOR & = 1 TO N2: INPUT NS(J): NEXT J

IF LY < =0 THEN 1710

FOR J = 1 70 L1: ERPUT K1(J),ML(3),K2(J)
IF X203) ¢ = 0 THEN 1700

FOR K = 1 TO K220z INPUT TL{K,J),T2(K,3): NEXT.K

NEXT 3

IFL2¢ = 0 THEN 1730

FOR J = 1 70 L2: INPUT K3(J),PU1,3),P(2,d),P{3,d)s NEXT J

FOR J = 1 70 Bi: INPUT K4(J),841,3),0(2,3),0(3,0)

FOR T =170 3: IF QU1,3) ¢ = | THEN 1740

INPUT BH(I,3)

NEXT |

NEXT J

PRINT D$;*CLOSE*;Al$

POKE 34,3: HOME : VTAB 5: HTAB 1; PRINT *CHANGE NODAL COOR. : 'Y'ES OR 'N'Q*
VIAB 5: HTAB 36: GET 613

IF 618 = ** THEN PRINT CHR$ (7): G0TO 1800

IF 613 < > °Y" AMD 613 ( > *N* THEN PRINT CHRS (7): 6OTO 1800

IF B1% = *N* THEN 2040

VIAB &: HTAB I: PRINT "NO. OF NODAL PDINTS TO BE CHANSED *;: INPUT **;K
IF K COORKDY NP THEN PRINT CHRS (7): POKE 34,5: HOME : 6OTO 1830
50SUS 1100

IF 6% = *Y* THEN 1899

PRINT CHRS (7): 6OTO 1790

POKE 34,3: HOME

VIAB 4: FRINT "PREVIOUS NODES  : *:HH = 22:W = 4: POKE 34,8

FIRJ =110k :

HOME : YTAB 9: INPUT *NODE NO.";JJ

IF 03 < 0 OR JJ > NP THEN PRINT CHRS {7): 6070 1920

INPUT *{ - COORDINATE e

INFUT *Y - COORDINATE "CC(2)

BOSUB 1130: POKE 34,8

IF 65 = *N* THEN 1920

IF HH ¢ LEN (STRS (J0)) 5 40 THEN VW = WV 4 1:hH = |

IF YV ) B THEN AR$ = "PREVIOUS NODES  : *: GOSUB 2030

VIAB YV: HTAB HH: PRINT JJ:HH = HH + LEN { STRS (JJ)) + I



: 174
2010 X{33) = CCA1I:YIdd) = CC(D)
2020 NEXT J: 6070 2040
2030 POXE 34,3: POKE 35,8: HOME : TEXT
2040 VTAB 4: PRINT AAS:HH = 22:VY = 4: POKE 34,8
2050 RETURN
2060 POKE 34,3: HOME-: VTAB 5: MTAB f: PRINT °*CHAMGE MATERIAL SETS : 'Y'ES OR 'N'0"
2070 VIAB S5: HTAB 38: 6ET 61 _
2080 IF 61% = °* THEN PRINT CHR$ (7): 60TD 2070
2090 IF 618 ¢ > *Y* AND 615 ¢ > "N* THEN PRINT CHR$ {7): 6070 2070
2100 1F 61§ = "N* THEN 2440
2110 VIAB b: HTAB 1: PRINT *NO. OF MATERIAL SETS TO BE CHANGED *;: INPUT "*;K
2120 IFK < O OR K > NS THEN PRINT CHR$ (7): POKE 34,5: HOME : 6OTO 2110
2130 60SUB 1100
2140 IF 6% = *Y" THEN 2140
2150 PRINT CHR$ (7): 6OTD 2060
2140 POKE 34,3: HOME
2170 VTAB 4: PRINT "PREVIOUS MAT. SETS : *:HH = 22:WV = 4: POKE 34,8
2180 FOGRJ =1 10K
2190 HOME : VTAB 9: INPUT *MATERIAL SETS ¥O.°;JJ
2200 IF JJ ¢ O OR JJ > NS THEN PRINT CHRS$ (7): 6070 2190

2210 IKPUT "YOUNG's MODULLS = *3CCHD)
2220 INPUT "AREA = *CC(2)
2230 IMPUT "MOMENT INERTIA = *3C0(3)
2240 INPUT “RIGID IONE OF NODE I = *;CC{4)
2250 INPUT "RIGID IONE OF NODE J = *;CC(S)

2260 POKE 34,9: HOME : VTAB 11: PRINT *SHEARING DEFORHATION : "NESLECT®

2270 VTAB 12: PRINT * : "I'NCLUDE®

2280 VTAB 13: PRINT * ANSWER @ ®: VIAB 13: HTAB 23: 6ET C$: IF LEFT$ (C$,1) = °° THEN FPRINT
- CHRS {7): 6OTO 2260

2230 IF LEFTS (C$,1) ¢ ) "I* AND LEFT$ (C$,1) < ) *H® THEN PRINT CHR$ (7): GOTO 2260

2300 HOME : VTAB 10: PRINT *YOUNG's MODULUS = "CCH)
2310 PRINT "AREA’ = %€C(2)
2320 FPRINT *MOMENT OF INERTIA = *;CC(3)
2330 PRINT "RIGID IDME OF NODE 1 = ®jCC(4)
2340 PRINT "RIGID IOME OF NODE J = *;CC(5)

2350 IF C$ = "N* THEN PRINT "SHEARING DEFURMATION : NEBLECT*: GOTO 2370

2360 PRINT "SHEARING DEFORMATION : INCLUDE®

2370 ©BOSUB 1130: POKE 34,8

2380 IF 6% = "N" THEN 2190

2390 IF HH ¢ LEN { STR$ {JJ)) ) 40 THEN YV = W + 1:HH = §

2400 1F WV > B THEN AA$ = °PREVIOUS HAT. SETS : *: GOSUB 2030

2510 VTAB WV: HTAB HH: PRINT JJ:HH = HH + LEN { STR$ (JJ)) + | ,

2420 E(JJ) = CC(1):AREALID) = CC2):1T40d) = CC(3):IR(II) = CCA):KR{JJ) = CCUS):SHEARS(JI) = LEFT$ (C
$,1)

2430 NEXT J

2440 POKE 34,3: HOME : VTAB 5: HTAB 1: PRINT “CHANGE NODE NO. & PROP. OF ELEMENTS®

2850 VTAB b: PRINT *°Y'ES OR "N'0"

2460 VTAB &: HTAB 13: GET G1$

2470 IF 61% = " THEN PRINT CHR$ {7): 6OTD 2440

2480 IF BI$ ¢ > "Y" AND 61% ¢ > *N* THEN PRINT CHR$ (7): GOTO 2460

2490 IF 615 = "N* THEN 2710

2500 VTRB 7: HTAB 1: FRINT *NO. OF ELEMENTS TO BE CHANGED *;: INPUT **;K

2510 IF K < 0 OR X > NUEL THEN PRINT CHR$ (7): POKE 34,6: HOME : 50TO 2500

2520 605UB 1100

2530 IF 68 = "Y* THEN 2550

2540 PRINT CHR$ (7): BOTD 2440

2350 POKE 34,3: HOME

560 VTAB 4: PRINT "PREVIOUS ELEMENTS : “:HH = 22:WV = 4: POKE 34,8

579 FORJ =1 10K

2380 HOME : VTAB 9: INPUT “ELEMENT NO.*;JJ

r D
n
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2590
2600
2610
2620
2830
2640
2550
2650
2670
2680

2690 3431} = CCU1):KEdd) = CCI2):M5¢0d) = CCI3)

2700
2710
2720
2730
2740
2750
2760
2770
2780
2719%
2800
2810
2820
2830
2840
2850
2860
2870
2880
2890
2900
2910
2920
2930
2940
2950
2960
2970
2980
2990
3000
3010
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110

IF 33 € 0 OR JJ > NUEL THEN PRINT CHRS$ (7): 60TO 2580 » 175

INPUT "NODE 1 = LC(h)
INPUT *NODE J = *3CC(2)
INPUT “MATERIAL SET = *;CC(3)

IF CC(3) € 0 OR CCI3) > MS THEN PRINT CHR$ (7): 6070 2580
605UB 1130: POKE 34,8

IF LEFT$ {6%,1} = °N* THEN PRINT CHRS$ {(7): 6OTD 2580

IF HH + LEN ¢ STR$ (JJ)) > 40 THEN WY = WV ¢ f1HH = |

IF YV > 8 THEN AA$ = *PREVIOUS ELEMENT : ": 60SUB 2030

VIAB VV: HTAB HH: PRINT JJ:HH = HH + LEN { STR$ (JJ)) + |

NEAT

IF LM ¢ = 0 THEN 3160
POKE 34,3: HOME : VIAB 5: HTAB I: PRINT "CHANGE MEMBER LOADS IN LOCAL COORDINATE®
VTAB b: PRINT *'Y'ES OR 'N'0*

VIAB &: HTAB 15: GET 61$

IF 615 = " THEN PRINT CHRS$ (7): 60TO 2740

IF 615 € > "Y* AND 618 ¢ > "N® THEN PRINT CHR$ (7): 6OTO 2740

IF 615 = "N THEN 3140

VIAB 7: HTAB 1: PRINT *NO. OF MEMBER LOADS TO BE CHANGED *j: INPUT "*3K
IFKCOORKD LN THEN PRINT CHRS (7): POKE 34,6: HONE : GOTO 2780

BOSUB 1100

IF 6% = *Y* THEN 2830

FRINT CHRS (7): 6OTO 2710

POKE 34,3: HOME

VIAB 4: PRINT *PREVIOUS MEMBERS : ®:HH = 22:W = 4: POKE 34,8

FOR'J =1 10 K

HOME : VTAB 9: INPUT “LDADED CARD N0.*;JJ

IF 03 COOR JJ > LM THEN PRINT CHRS (7): BOTO 2840

INPUT *LOADED MEMBER NO. = 308
IF 35 ¢ 0 OR JS > NUEL THEN PRINT CHR$ (7): 60TO 2840
INPUT "UNIF. LOAD = Nielin

INPUT "NO. OF TRANSVERSE LOAD = *;CC{2)
IF CC(2) { =5 THEN 2950
FRINT CHR$ (7): PRINT °NO. OF TRANSVERSE LOAD = 5 <MAXINUM)®

BOTD 2910
IF CC(23 ¢ = O THEN 3080
POKE 34,8

FOR 8 = 1 T0 CCi2)

HOME : VTAB 9: HTAB 1: PRINT “TRANSVERSE LDAD NO.*;M;* = *1: INPUT **;DB(M)
PRINT "DISTANCE FROM LEFT END = ";: INPUT **;D9(N)
NEXT H

HOME : PRINT "LDADED CARD ND.*;JJ -

PRINT "LOADED MEMBER NO. = "5

PRINT "UNIF. LDAD = 5 CC0HD

PRINT *X0. OF TRANSVERSE LOAD = *;CC(2)

FOrR ¥ = 1 70 CC(3)

FRINT N;* TRANS. LOAD/DIST. = ";DB{N) ;" /%509t
KEXT M

60SUE 1130: POKE 34,8

IF 6% = *H° THEN PRINT CHR$ {7): 60TO 2849
IF HE + LEN ( STRS (JJ1) > 40 THEN W = W + 1:HH = 1
I 99 > B THEN AAS = “PREVIOUS MEMBERS : *: 6OSUB 2030



3120

VIAB VV: HTAB HH: PRINT JJ:HH = HH + LEN ( STR$ (JJ)) + |

3130 K1) = JS:MLLId) = CCIL:K21dd) = €C(D)

3140
3150
3160
3170
3180
3190
3200
3210
3220
3230
3240
3250
3260
3270
1280
32%0
3300
3310
3320
3330
3340
333
3360
3370
3380

3390

I400
3410
3420

FOR M = 1 70 K2J):T1(N,J3) = DB(MI:T2(N,03) = DIIM): NEXT M
NEXT J

IF LI = €0 THEN 3450 A

POKE 34,3: HOME : VTAB 5: PRINT *CHANGE JOINT LOADS IN 6LOBAL CODRDINATE®
VIAB 8: PRINT *'Y'ES OR 'N'0°

VIAB b: ‘HTAB 15: GET 613

IF 615 = ** THER PRINT CHR$ (7): 6OTO 3190

IF 615 ¢ > *Y" AND 615 ¢ > "N THEN PRINT CHRS (7): 60T0 3190

IF 615 = *N* THEN 3450 : : _
VIAB 7: HTAB 1: PRINT "ND. OF JOINT LOADS TO BE CHANGED *;: INPUT **;K
IF K COORK LI THEN PRINT CHRS (7): POKE 34,5: HOME : 6070 3020
60SUB 1100

IF 6% = *Y* THEN 3280

PRINT CHRS$ (7): GOTD 3160

POKE 34,3: HOME .

VIAB 4: PRINT *PREVIDUS JOINTS  : ":HH = 22:WV = 4: POKE 34,8

FORJ =170 K

HOME : VTAB 9: INPUT *LOADED CARD NO.*;JJ

IF 33 < 0 OR JJ > LJ THEN PRINT CHR$ (7): 6010 3310

INPUT *LOADED JOINT ND. = *;JS

IF J5 ¢ 0 OR JS > NP THEN PRINT CHR$ (7): 60TO 3310

INPUT *FORCE IN X = 00

INPUT *FORCE IN Y *0C(2)

INPUT *MOMENT ABOUT 1 *LC(3)

BOSUB 1100: POKE 34,8

IF 5% = "N* THEN PRINT CHRS (7): 6OTO 3310

IF B4 + LEN ( STRS (JJ)) > 40 THEN YV = W + 1:HH =

IF V¥ > 8 THEN AA$ = "PREVIOUS JOINTS  : *: 6OSUB 2030

VIAB V¥: HTAB HH: PRINT JS:HH = HH ¢ LEN { STRS (JS)) + |

i

3430 K319y = 35:P (1,33} = CO{12P12,3d} = CC(2:P(3,d1) = CCI3)

3340
3430
3450
3470
3480
3490
3300
3510
3520
3330
3340
3350
3360
3570
3580
3599
3600

NEXT
POKE 34,3: HOME : VTAB S: PRINT "CHANGE B.C. AT JOINTS : 'Y'ES OR 'N'D*
VIAB S5: HTAB 39: GET 613

IF 615 = ** THEN PRINT CHRS {7): 507D 3460

IF 615 < > *Y* AND 61$ ¢ > "N* THEN 3460

IF 61% = "N THEN 3980

VIAB b: HTAB 1: PRINT *ND. OF B.C. JOINTS TO BE CHANGED *;: INPUT °*;K
IFK<O0ORK)BJ THEN PRINT CHRS (7): 60T0 3500

£0SUB 1100

IF 6% = "Y* THEN 3550

PRINT CHR$ (7): 60TD 3450

POKE 33,2: HOME

VIAB 3: INVERSE : PRINT °FREE = 0 : FIXED = § : KNOWN = 2 *s NORMAL : POKE 24,3

VTAE 4: PRINT “PREVIOUS JOINTS : ":HH = 22:VV = 4: POKE 34,8
FOR Jd =1 10K

HOME @ VTAB 9: INPUT *8.C. CARD NO.*;JJ

IF 3 < 0 OR JJ > BJ THEN PRINT CHR$ (7): 6070 3590
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3610
3520
3630

3840 .

3545
3550
3850
3865
3470

‘3580

3585
3690
3700
3710
3720
3730
3740
3750

3760 .

3770
3780
3790
3800
3810
3820
3830
3840
3830
3880
3870
3880
3890
3900
3910

INPUT *B.C. JOINT NO. = *;JS
IF JS € 0 OR JS > NP THEN PRINT CHR$ (7): 60TD 3590
INPUT *X - DISPL. = ;L0 '

IF CC(1) = 0 OR CC{1) = 1 OR CCHY)
PRINT CHR$ (7): 6OTO 3630

INPUT *Y - DISPL. = ";C0(2)

2 THEN 3650

IF €C(2) = 0 OR CC(2) = 1 OR CC(2) = 2 THEN 3470
PRINT CHR$ (7): BOTO 3450 :

INPUT "ROTATION = "5CC(3)

IF CE(3) = 0 DR CC(3) = 1 OR CL(3) = 2 THEN 3490

PRINT CHR$ (7): 6OTD 3470

HOME ¢ YTAB 9: [F CC(1) < = { THEN 3710

INPUT "KNOWM X - DISPL, = *;CC(Y)

IF €C(2} ¢ =1 THEN 3730 '

INPUT "KNOWN Y - DISPL. = *;LC(S)

IF CC43) ¢ =1 THEN 3750

INPUT “KNOWN ROTATION = *;CCi4)

FOR ¥ = 1 T0 3: IF CC(I) = O THEN AR$(I) = "FREE®

IF CC(1) = | THEN AR$(1) = *FIXED®
IF CC(I) = 2 THEN ARS(I) = “KNOWN®
REXT 1

HOME : YTAB 9: PRINT "B.C. CARD ND. *;JJ
PRINT *B.C. JOINT MO. = ";J5
VIAB 11: PRINT *X - DISPL.

IF ARB{L} = "KNOWN" THEN VTAB 1)
VIAB 12: PRINT °Y - DISPL.

IF AR${2) = "KNOWN" THEN VTAB 12: HTAB 2b: PRINT *: *;CC{5)
VTAB 13: PRINT "ROTATION *;AR$13)

IF AR$(3) = "KNOWN" THEN VTAB 13: HTAB 26: PRINT °: *;CC(4)
60SUB 1130: POKE 34,8

IF 6% = *N* THEN 3390

IF HH + LEN ( STR$ (JS)) > 40 THEN WV = WV + {:HH = |

IF WV > 7 THEN AAS$ = "PREVIOUS JOINTS : *: 60SUB 2030
VIAB VV: HTAB HH: PRINT JS:HH = HH + LEN ({ STR$ (JS})) + |

*;ARS(1)
HTAB 26: PRINT *: *;CC(4)
*JARS (2)

3920 K4¢3J) = JS: FOR 1 = 1 7O 3:Q41,33) = CCCI): NEXT I

3930
3940

FIRI=1TO 301 =1+3
IF 941,dd) ¢ = 1 THEN 3940

3950 GH{1,J0) = CCUID)

3960
3970
3980
3990
4000
4010
4020
4030
4040

NEXT 1
NEXT J

POKE 34,2: HOME

VIAB 3i INVERSE : PRINT AD$: NORMAL : POKE 34,3

VIAB 5: HTAB 1: PRINT "INPUT NAME OF DATA FILE TO BE SAVE®
VTAB 7: PRINT *NOT MORE THAN & CHARACTERS"

VIAB 9: PRINT *FILE NAME : *;: INPUT **;Al$

IF LEN (A1$) > 6 THEN PRINT CHR$ (7): 6TD 3980

PRINT D$;*MONC,1,0°: VTAB 1!: FLASH : PRINT *.WAITING.*: NORMAL : POKE 34,112 HOME
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t78

4050 PRINT D3;*DPEN";A18;°,D";BB
4050 PRINT D3;*DELETE";ALS: PRINT DS; "OPEN";ALS
4070 PRINT D$;°NRITE®;A1$
4080 PRINT F$: PRINT NP: PRINT MUEL: PRINT LM: PRINT LJ: PRINT NS: PRINT BJs PRINT PT: FOR J = 1 T0 NU
_ . EL: PRINT J(J): PRINT K(J): NEXT J

4090 FOR J = 1 TO NP: PRINT XiJ): PRINT Y{J): NEXT J

4100 FOR J =1 TO MS: PRINT €{J): PRINT AREA(J): PRINT IZ{d)s PRINT JR(J): PRINT KR{(J): PRINT SHEARS$(J
}: NEXT J
4110 FOR J = 1 TO NUEL: PRINT M5(J): NEXT J

$120 IF LM ( = 0 THEN 4170

4130 FOR J = 1 TO LM: PRINT K1{J): PRINT ML(J}s PRINT K2(J)
4140 IF K2(3) ¢ = 0 THEN 4150 _

4130 FOR K = 1 TO K2{J): PRINT THiK,J): PRINT T2(K,J): NEXT K
4160 NEXT J

4170 IF Ld ¢ = O THEN 4190

4180 FOR J = 1 TO LJ: PRINT X3€J}: FOR 1 =1 TO 3: PRINT P(I,J): NEXT I: NEXT J
4190 FOR J = § TO BJ: PRINT K4tJ): FOR 1 = | TO 3: PRINT 8¢(I,d): NEXT I
4200 FOR 1 =1 70 3: IF §41,0) ¢ =1 THEN 4220

4210 PRINT ON(I,J)

4220 NEXT I

4230 NEXT ]

4280 PRINT D3;"CLOSE*;Al$

4250 PRINT D$;°NOMOM C,1,0°: VIAB PEEK (37): CALL - 868: TEXT
4260 HOME : IF BB = 2 THEN 4290

4270 VTAB {1: PRINT "INSERTY PRDSRAH DISK INTO DRIVE®

4280 GOSUB 1040: HOME

4230 PRINT D$;"RUN OPTIONS,D";AA

4300 END



1000

1020
1030
1040
1050
1060
1070
1080

REM #43PLOT DATA#3s

1910 AA = PEEK {779):BB = PEEK (780): TEXT : HOME

IF BB = 2 THEN 1040

VIAB 11: PRINT "INSERT DATA  DISK INTO DRIVE": 60SUB 1060: 60TO 1090
VIAB 11: PRINT °INSERT PROGRAM DISK. INTO DRIVERL®

VTAB 12: PRINT °INSERT DATA  DISK INTO DRIVERZ*: 60SUB 1060: 60TD 1090
VTAB 14: PRINT "PRESS 'RETURN KEY' TO CONTINUE®: VTAB 14: HTAB 32: GET 6%
IF ASC (6%) < > 13 THEN PRINT CHR$ {7): G5OTO 1040

RETURN

1090 D% = CHR$ (13} + CHR$ (4)

1100
1110
1120
1130
1140
1150
1140
1170
1180

TEXT : HOME = VTAB 2: PRINT "INPUT NAME OF DATA FILE 7O BE PLOTED"

VIAB 4: PRINT °FILE NAME : °;: INPUT "";Al$ :

VTAB &s FLASH & PRINT "..ovveiuvova s o PLOT DATAL.cuivinsnnanaa ™t NORMAL
PRINT D$;"OPEN";A1%;",D";BB

PRINT D$;"READ";A1$: INPUT F$,NP,MUEL,LN,LJ,NS,Bd,PT

DI X(NP},Y(NP),J (NUEL} [K(NUEL)

FOR J = 1 TO RUEL: INPUT J13),K(J): HEXT J

FOR 3 = 1 TD NP: INPUT X(J),Y(J): NEXT J

PRINT D$;"CLOSE®;Al$: TEXT : HOME

1190 P$ = *N*

1200 P = 0:8 = 0:R = 0:§

1210
1220
1230
1240
1250
- 1260

0
FOR J =1 TO NP

IF X{d) > P THEN P
IF X{J) ( Q THEN @
IF Y{3) > R THEM R
IF Y(3) < 5 THEN §
NEXT J

1)
Xtd)
YiJ)
Yid)

R0 X=?-mY=R-51=1

1280

IFY>XTHER I = ¥

1290 =130 / 1:P=0:R = 0

1300
1310
1320
1330
1340
1350

IFGCOTHENP = -0
IFSCOTHENR = - §
TEXT 3 HOME

HCOLOR= 7

HER

FOR L = 1 TO NUEL

1350 T = 3{L):d = Kib)
1370 31 = (X4I) ¢ P) # W + 20342 = (X(J) +P) # M + 20
1380 ¥1 = 153 - ((Y(I) ¢ R) # W):¥Y2 = 155 - ({Y(J) + R) ¢+ W)

1390
1400
1410
1420
1430
1440
1450
1450
1479
1480

HPLOT X1,Y1 T0 X2,Y2
NEXT L

IF P$ = *Y* THEN 1510

VTAB 22: PRINT "PRESS 'RETURN KEY' TD CONTINUE®: VTAB 14: HTAB 323 GET 6%
TEXT : HOME : VTAB 20: PRINT *PLEASE,TURN ON PRINTER®

VIAB 22: PRINT "HARD COPY OF THIS PLOT : ‘Y'ES OR "N'D°

VIAB 22: HTAB 40: BET 6%

IF 65 = " THEN PRINT CHR$ (7): GOTO 1440

IF 65 ¢ > "Y* AND 6% < ) "N® THEN PRINT CHRS (7): 6070 1440

IF 6% = *N* THEN 1520

1490 P$ = *y*

1500
1510
1520
1330
1540
1550
1560

PRINT D$;"PREL™: 6070 1320

PRINT CHRS {17): PRINT D$;°PR8O"

IF BB = 2 THEN 1550

TEXT : HOME : VIAB 11: PRINT "INSERT PROGRAM DISK INTO DRIVE®
§0SUB 1060

PRINT D$;°RUN OPTIONS®;* D" Ak

END
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